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DO NOT OPEN_THIS BOOKLE YOU ARE ASKED TO DO SO.
2023
TEST BOOEKLET TEST BOOKLET SERIES

English, General Studies and Arithmetics
Time allowed : 1% hours
Full marks : 100

Answer all the questions.

Questions are of equal value.

Serial No. 2189973 Roll Ne.:

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
resulf in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen. :

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encolded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited,

6. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Skeet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall, You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Choose the correct option to complete the * 6. The umbrella which has a broken handle is

sentence: mine.
I have been at the painting, What clause is this?
(A) looking E%[= (A) Adverb Clause
(B) looked 3 (B) Adjective Clause
(©) lock =] (C) Noun Clause
(D) looks (D) None of the above

7. Change the following sentence into a
Negative one:

He is as good as I am. EaE.
(A) I am not better than he is. Eﬁ

{B) He is better than me.
(C) Iam better than him.
(D) Heis not as good as I am.

2. Choose the correct pair of antonyms from
the pairs given below:

(A) defriend-unfriend
(B) borrow-lend

(C) help-aid

(D) cajole-coax

8. It was expected by the Romans that they

3. Fill in the blank with the appropriate word: would conquer Carthage.
People get and don’t listen any The Active Voice of the above sentence
more. will be:
(A) bore (A) The Romans expected to conquer
(B) board Carthage. )
(C) bored (B) It was expected that Carthage would
(D) boring be conquered by the Romans.

(C) Carthage, the Romans expected, was
to be conquered.

(D) Carthage was expecting to be

4. Change the voice: conquered by the Romans.

The gate was opened by the peon.
(A) The open gate let the peon in.
(B) The gate opened to let the peon in.
(C) The peon opened the gate.
(D) The peon opened the closed gate.

9. The plural form of ‘Deer’ is EEE]
(A) Doe LS o
(B) Deer Et%
(C) Deers
(D) Drakes

5. Fill in the blank with the appropriate

preposition from those given below: 10. Identify the figure of speech in the following

REMKGOIRRSGERXKGOHERAX DD HEODJO L0025/ OD DD E DD RN DD WD NN

He left his phone _____ the bed. Eﬁm sentence: United we stand — divided we fall.
(A) at . (A) alliteration

(B) in Eﬁ (B) antithesis

(C) on (C) assonance

D) to (D) pathetic fallacy

ExE
o
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11. Replace the underlined word with the *  16. Rewrite the following sentence in the
appropriate idiom from those given below: positive degree:

He has incurred debt. He is the heaviest of all the boys.

(A) runup to E‘ﬁﬂ. (A) He is one of the heaviest boys.

(B) run out of %ﬁﬁ (B) No other boy is as heavy as him.
(C) run through (C) He is one of the heavy boys.

(D) run into (D) He is heavier among the heavy boys.

12, When he gets his degree, he will have been
studying at Oxford for four years.— Which tense
is this?

(A) Foture Continuous Tense

{B) Future Perfect Tense

(C) Future Perfect Continuous Tense
(D) Present Perfect Continuous Tense

17. Have you read Gulliver’s Travels?
The sentence is an example of
(A) Present Perfect Tense EI%EI
(B) Present Continuous Tense Wﬁ
(C) Simple Present Tense EI

(D) Present Perfect Continuous Tense

13. Replace the underlined verb with the 18, Fillin theblank with the correct conjunction:

appropriate phrasal verb from those given below: We carved not a line, we raised
He must increase the production. nota St‘(’;‘;- ;
(A) stepinto EI EI an
(B) steep into m%% ®) bu't
(C) stepup [w] (C) neither
D) or

(D) steep up

14. Identify the participle in the following 19. Replace the underlined portion with an

sentence: idiom from the list below:
Hearing the noise, the boy woke up. He will never be able to do anything
(A) Noise remarkable.
(B) Boy (A) Heap coals of fire upon his head
(C) Hearing (B) Set the Thames on fire
(D) Woke (C) Let the grass grow under his feet

(D) Put the screw on

15, ‘Which of the following is not an Abstract

HEFDOAKDD RSO R A2 2DDOD VDLV VSTODSOODSEODRODRRDD R DL ERD T N

Noun? 20. Identify the incorrect spelling. E%E
(A) Goodness {A) Dissent E
(B) Youth {B) Decent ol
(C) Poverty (C) Descent
(D) Parliament (D) Discent
[EIRE Please Turn Over
DhS
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21, Turnthe following sentence into aquestion:
He was a villain to do such a deed.

(A) How was he a villian to do such a
deed?

(B) Whydidhedosuchavillainous deed?
(C) Washenotavillaintodosuchadeed?

(D) What made him do such a villainous
deed?

22, Fill in the blank with the correct option:

grain they had was damaged by
sea-water.
(A) Alitte Eﬁ%
® Lite .
(C) The Iittle
{D) Solittle

23. Change the following sentence into an
affirmative one:

He is so weak that he cannot walk.
(A) He is too weak to walk.
(B) He cannot walk because he is weak.
(C) Walking is impossible for him for he
is weak.
(D) Weaknessdisableshim fromwalking.

24, Insert the correct word(s) in the blank:

He stayed at home because he a
cold.

(A) is having EI%E]
(B) was had |
(D) had

25, Rewrite the following sentence in the
comparative degree:
This book is the most interesting book I
have read.
(A) Thisbookis moreinteresting thanany
other book I have read.

>
&

XMGDRMGOR KDL X DDV RDLSODLDOD DD T 0O T DD DD WSS kR

26. Give one word substitution for a person
who compiles dictionaries.
(A) Psephologist Eﬁ@
(B) Lexicographer %ﬁ
(C) Curator
(D} Cartographer

27. Choose the correct option to complete the
sentence:

I rushed to the door when the doorbell

|

(A) ring
(B) ranged
(C) ringed
(D) rang

28, Choosethecorrectsentence from the options
given below:

(A) Nothing by chance happening ever
(B) Nothing ever happens by chance
(C) By chance nothing happening ever
(D) By chance ever nothing happens

29, Identify the figure of speech in the following
sentence:

To err is human, to forgive divine
(A) Hyperbole

(B) Epigram

(C) Irony

(D) Antithesis

30. The noun form of “Break’ is

4
(B) This book is very interesting. (A) Breaking Eﬁ@.
(C) This book is superb. (B) Broken [=]:X
(D) This book is very much interesting (C) Broke
than other books I have read., * (D) Breach
=] % [x]

552
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31. Two pipes can fill a tank in 20 and 24
minutes respectively and a waste pipe can empty
3 gallons per minute. All the three pipes working
togethercan fill the tank in 15 minutes. The capacity

of the tank is
| (A) 60 gallons
\ (B) 100 gallons
(C) 120 gallons
(D) 180 gallons

32, Which of the following is the first beach in

‘ Asia to get Blue-Flag Certification?
(A) Arambol Beach, Goa

(D) None of the above

33. A person has to cover a distance of 6 km in
45 minutes. If he covers one-half of the distance in
two-thirds of the total time; to cover the remaining
distance in the remaining time, his speed must be

(A) 6 km/hr
' (B) 8 km/hr
(C) 12 km/hr
(D) 15 km/hr

34. Acando % part of a work in 5 days and B

can do %’- part of that work in 6 days. A and B

together complete the work in
(A) 3 days
(B) 6days
(C) 5days
(D) 4 days

SLB/23-A-2189973/05

(B) Chandrabhaga Beach, Odisha
(C) Marina Beach, Tamil Nadu
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31. % sifErea ARy < b P 20 R
@ 24 5 S <at 7 g3 e sifggsm wigeg
1 RiRE5 3 svie o= e <41 T | @oTed 1 fonfo
2o TG @ oK B ©f6 =g 15 MG T
wieet | GrElBre +@ shieH o 4G9 e

(A) 60 =T

(B) 100 e
(C) 120 b=
(D) 180 sDiewt

32, oA (I THOTTel G 4N g2’
it cottar?

(A) HETAR 7T, ot
(B) Garelel (i, wfH
(C) (il i, SifEIg
(D) TAET @IIHE 77

o
[w]:

33. 3 & 45 TG 6 ReitR 1o foaw
300 #Hied | I 1 (B TG RopORIeT WTg
TS g Sfew a0 ©iF sferds o 7A?

(A) 6Tl <<
(B) 8RR/ 961
(©) 12RR/ =t
D) 15 Jhif g%

34. A < IS %wsﬁmm«ﬂm}sﬁ

W%Wﬁ%WlAGBﬁWWW

(A) 3 " ¥
®) 6w E;‘E
© 57w

(D) 4
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35. Write the missing number:;
4,9,17, 35, 7,139
(A) 63
(B) 65
©) 67
(D) 69

36, In which year was the Olympic Symbol

designed?
(A) 1915
(B) 1913
(C) 1920
D) 1924

g

[

37. A train 240 m long passed a pole in 24
seconds. How long will it take to pass a platform

650 m long?
(A) 65 sec.
{B) 89 sec.
(C) 100 sec.
(D) 150 sec.

38. The ratio of a man’s age and his son’s age
is 7 : 3 and the product of their ages is 756, The

ratio of their ages after 6 years will be
(A) 5:2
B)2:1
(©) 11:7
D) 13:9

39. What is the term for an artwork painted

directly onto a wall?
| (A) Fresco
| (B) Mural
(C) Graffiti
(D) Tapestry

' SLB/23-A-2189973/06
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35, wpeifge Ry @t ¢ Eﬁlﬂ
4,9,17,35, 7,139 W
(A) 63 ‘E;Rﬁ
(B) 65
(©) 67
(D) 69

36. EFAESEiE P aknsai ke
(A) 1915
®) 1913
(©) 1920
(D) 1924

37, 240 ToIT =131 930 G 24 GRS 96
CAEE o 02| GAl6 650 5T =171 «wfe
LHFE SfoT T To 791 G ?

(A) 650t
(B) 89 GiiT®
(© 100Gt
D) 150 T

38, O3 Qe e Ol #{0qd TER A0 7: 3 G=R
St TUETR QT 756 | 6 T2 A St [WEE
A A

i
(A) 5:2 EIHJE-I
@) 2:1 Eﬁ
©) 11:7
D) 13:9

39. I I AR S ol Permite |
A
A) &=
(B) L&E
©) aF®
(D) Brie=ify
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40. The speed of a boat in still water is
15 km/hr and the rate of the current is 3 km/hr.

EFE o

40. 735 =@ 99 (TR Sfew@e 15 [/
3 GRS SHferael 3 foR/9e! | i 12 TG

The distance travelled downstream in 12 minutes ST G T GG UG FAR?L

is : R 1
(A) 12km ) 12 ' Eﬁg
®) 1-8km (B) 18 oI X%
©) 24km ©) 2-4 =TGR
(D) 3-6km (D) 3-6 Rl

41, If the simple interest on ¥ 500 for 4 years is

41. 3 500 Bt 4 9oL T W 100 B

¥ 100, then what is the interest per annum? OIRE IR *SFR| T YT FoO !
(A) 10% (A) 10%
B) 5% (B) 5%
(C) 8% ©) 8%
D) 6% 1 D) 6%
i |
[x]
42, The least number of five digits which is 42. 5 SFF P Foew MRP! 12, 15 9= 18
exactly divisible by 12, 15 and 18 is T ey 3Ry
(A) 10010 (A) 10010
(B) 10015 (B) 10015
(C)y 10020 (C) 10020
(D) 10080 (D) 10080

43. ‘Pampas’ are extensive grasslands found in
(A) North America
(B) South America
(C) Africa
(D) Asia

44, Aisthriceasgood asB and thereforeisable
to finish a work in 80 days less then B. Find the

HERGHR AT EAXDS XX DISGODLLDLLTDLODSSDRDDHROCTVODR DR MO TRERETD RS

43, “si=aART, Rgo poigll I et Tm—

(A) Tex R E&’El
®) wiEe i e
(D) afmt

44. A,B-43 300 gl R GRIAE A, B~
Qe 80 e =T ulo FIW (T <0 | O STH

number of days requied to complete the work f el et ¢ ¥acq o1 et Wl
ey are working together. g (A) 20 T
(A) 20 days %@IE B) 32 fiq
(B) 32 days [u] (© 30f=
(C) 30 days (D) 40 7=
(D) 40 days )

[l [
o
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45. Which day is celebrated as a ‘World Blood *

Donor Day’ every year?
(A) 5thJune O
(B) 14th June
(C) 14th July
(D) 10th September

46, Which of the following rivers is the Ukai

dam situated across?
(A) Narmada
(B) Tapti
(C) Mahanadi
(D) Krishna

47. The International Union for Conservation

]

e

45, #foamg @ Wb Tt TenmeEl e
BT w1 (SEtee) a1 2w 2

(A) 53 TA

®B) 1425
(C) 1425
(D) 10% G

46. B @R TG Oy THiE Il w=Fer

&) my
® o :
(©) el
D) T

47, TRV /T T TSR T

of Nature (IUCN) has the headquarters at 1 QUCN)~4F T3 VYT IE=—
(A) Kenya € Gt
(B) Budapest E]"JE‘ 0(;; 9{5"5‘
(C) Switzerland [=] W@ -
(D) Rio-de Janeiro © X
D) Te-fE cafarat

48. A started business with ¥ 30,000 and after
4 months, B joins with A as his partner. After a
year, the profitis divided in the ratio 2 : 3. What is

B’s contribution in the capital?
(A) ¥65,700
(B) ¥ 65,000
(C) ¥67,000
(D) ¥ 67,500

SLB/23-A-2189973/08

XX EDESERGO RIS EXRDESJOZOSHOORDOOLHDOHROG DS SO N DN 5D 5 kDD %

48. A, 30,000 Bi%t T T b i oF
FCE R ©IF 4 T 203 B, A~97 AN € [T
TE T | IR 5L 2 : 3 SITS SIE STopie otet
39 <1 €% IR B-4F T FfT Tt |

(A) 65,700 Bt E]ﬁ[i]
(B) 65,000 B! :
(C) 67,0005 EE?’%
D) 67,500 B
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49, REfRe @ity 9o 27 G¢

>
o

49, Bar is a unit of

(A) Force A) 5
(B) Power EB; S E@E
(C) Work © el %ﬁ%
(D) Pressure

(D) o7

50. Avendorlosestheselling price of4 oranges
on selling 36 oranges. His loss percent is

50. @3 Rowot 36 FeEg [id o @ s
FARFIN A ©f 4T SEieRs RemE | o

(A) 10% O ﬁEl A 2T
®) 11% %ﬁ (A) 10%
© 125% ®) 11%
(D) None of the above () 12%%
(D) S @IAITE =
51, Under the Free Movement Regime (FMR), 51. & eurs @fEm (FMR)-9q &I, Hiice
tribes living along the border cantravel upto what & IR Towfear fom BYR o= (ol fowE
distance inside the other country without a visa? S T 4 = T .,[m'?
(A) 5 kilometres ( A) 5 ﬁ‘ﬁ‘lﬁ%ﬁ
(B) 8 kilometres Rl )
(C) 16 kilometres B) 8 )
) 20 kilometres ©) 16 Rt
(D) 20 fFeeTfRiGE

52. Which day is observed as ‘World AIDS 52, ¥ e ‘R e e o oem

Day’? T =
(A) December 4 %E
' December 10 (&) 4o %
?(zg Dzﬁbz 14 (B) 10 f¥wra %%
(D) December 1 (©) 14 fbom=a
(D) 1

53. Which layer of the atmosphere prevents 53, IWETEH @HETaeReFHIRERA7S

REERDSAXSD RSO R R L IHD DD DS OOLRLRSDOBODRODOORMT D ERDT DT O EER

ultraviolet rays from coming on the surface of the S ANl A2
e (=15 &) P
(A) Stratosphere mﬁ
(B) Troposphere = B) FrfFna
(C) Ionosphere (© wifFema
(D) Mesosphere D) EFiremE
E] hi E Please Turn Over
E o Il
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54. A train starts from Howrah at 8 a.m. and *
reaches Burdwan at 12 noon. Another train leaves
Burdwan at 9 a.m. and reaches Howrah at 12 noon. &

When do they meet? &
RIS

1 .
A = t9am.
(A) .177 mins past 9 a.m M

®) 17% mins past 11 a.m.

© 17% mins past 10 a.m.
(D) 10 a.m.

55, Name the Indian athlete (Javelin thrower)
who has won the gold medal in Paavo Nurmi
Games, 2024.

(A) Abhinav Bindra

(B) P. V. Sindhu

(C) Neeraj Chopra

(D) Tajinder Pal Singh Toor

56. ‘Asol Aap’ is a popular canoe race from
(A) Andaman & Nicobar Islands
(B) Chhattisgarh

(C) Manipur %ﬁ@
(D) Himachal Pradesh %

57. Which of the following waves has the
highest frequency?

(A) Radio

(B) Infrared

{C) Microwaves
(D) Gamma-rays

*
B
B
: 3
»
]
5
*
*
&
o
=]
i
i
4
B
B
i+
=}
]
2
E
B
3
@
B
B
3
G
B
B
3
B
Q
3
4
=3
*
*
3
43
»*
»*
3
S
*
*
5
&
*
»*
»*
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54, b G it 8 BRI QST (A Tl 0T T

& R 12 B S TR |11 3 Gt SR 7 B

4N (0T I ©F IR AT 12 B RETE G|
T o e ==y

(A)Wmﬁl?%ﬁﬁ%
(B)Wllﬁl?%ﬁﬁ%

(C) == 105t 17%1?@%‘
(D) FFIE 10 B

55, (B ol SpNFEG (Felkm WeEiea
GITIRN) 2024 AT #HTet T FE1 GIAE v

T EE
(A) Sifens et E’-%
@) B B [=:
(C) A= GreAT
(D) wiftma #AF PR3

56. “SPIE S5 @ G0 TRy FiE @ e
(A) S @ TNRRE Aolvg
(B) =feisic
(C) wfsfg
(D) T=atibat aige

57. B (I ST FAF J90E @M 7
(A) @R a@

B) THIC
(C) WErwierre Egﬁ
(D) tisi-af
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58. A boy’s height is 133 cm at the end of a *
year. His height increased by 6:4% during the *

year. Find his height at the beginning of the year. ﬁ
(A) 125cm ElﬁE! ©
(B8) 120cm “ﬁﬁ
(C) 110em [=:
(D) 118 cm

59. Last week, 8,000 copies of a certain
magazine were sold. This week, 7% more copies
were sold. How many copies of the magazine were
sold this week?

(A) 8,650
(B) 8,560
(©) 7,600
(D) 8,500

60. Bysellingabicyclefor¥2,050,ashopkeeper
gains 25%. If the profit is reduced to 10% then the

selling price will be
(A) ¥1,600 EI%E
(B) T1,804 Elﬂﬁ
(C) ¥1,805
(D) ¥ 1,800

61. Find the sum:

111,11 1.1 1
_2 6 12 20 30 42 56 72

LI S
90" 110 132

A 5

11
(B) n

15
©) I3
17
(D) 3

[l A=)
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58. IR(EF N9 93 T BHel 133 G |
3fit =g oI Sl 6-4% TR Y AN O TR
HFro oig Tl e el ?

(A) 125 ¢fX
(B) 120 ;i
©) 1100
D) 118 &

59. 5/ HYNZ GF0 Wit 8000 I+ R
W | € AR 7% @R 0 R 2 @3 i v
% st Rfs e

(A) 8,650
(B) 8,560
(© 7,600
(D) 8,500

E]!.-‘

i

60. OTEH RIS G AR 2,050
Bt RF s 25% <ite Faw | o S [R-
iR RiE w0 o Aces +fAwd FW 10%

EIoR

(A) 1,600 Tt
(B) 1,804 Bt
(C) 1,805 it
(D) 1,800 Bit

61. o= Rfa <= 8

11 1 1

1111

PR VAP RE MR )

1 1 1

t— et —

90 110 132

@ &
11
® 3

© 32

17
®) 137

3

E

[=] 3w}
o]
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62. Who is the founder of Facebook?
(A) Steve Jobs

(B) Mark Zuckerberg (=]
(C) Larry Page E:—.

(D) Bill Gates

63. In which year the newspaper ‘Times of

India’ was first published?
(A) 1875
(B) 1858
(C) 1867
(D) 1862

64. Who is the famous personality known
for their role in the anti-apartheid movement in

South Africa?
(A) Nelson Mandela
(B) Morgan Freeman
(C) Drake
(D) John F Kennedy

65. A batsman makes a score of 84 runs in the
21st innings and thus increases his average by
2 runs. His average runs after 21st innings is

(A) 24

®) 3 it
(C) 44 O
D) 54

66. Which city was recognized as the world’s

most sustainable city in 20247
{A) Copenhagen
(B) Singapore
(C) Helsinki
(D) Reykjavik

SLB/23-A-2189973/12
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62. RS dfSTel e
(A) o waH
(B) I wrransf
(C) 7if collm
D) & b

63. GIIF AIGT “Times of India’ 2% SiFRro 5T ¢

(A) 1875 Al

®) 185871 %
(C) 1867 ATA ]

(D) 1862

64. i SifEer 3w R wiehee oima

R RTe ey

(A) = PITT=
B) Tl e
© e

D) & IF FAE

65. TG U 21 TN BT 84 T T

IR ©FF 51T 91N 2 9IS O 21 3 TR A OF
% 97}

(A) 24
(B) 34
© 4
D) 54

66. (PN *ZEi6 2024 A Rev Tww G

(sustainable) =3 B %TW AR ?
(A) (FICACESH Elﬁlil
B) Fesig LI
(©€) =t %

D) ERufes

K
A m Temel -
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67. A sum of money is divided among 160
males and some females in the ratio 16 : 21.
Individually each male gets ¥ 4 and a female T 3.

The number of females is .
(A) 198 EE;‘EI
® b
(C) 280
(D) 284

68. 60% of a number is equal to the %—th of the
other number. What is the ratio between the first
number and the second number?

(A) 1:1
B) 2:3
© 3:5
D) 2:5

69. World Beneath His Feet is a biography of
whose personality?

(A) Pullela Gopichand 1

(B) Nawab Pataudi EﬁE
(C) Ajit Wadekar [&]

(D) Sachin Tendulkar

70. The profit earned after selling an article for
{1,864 is the same as loss incurred after selling the
article for ¥ 1,490. What is the cost price of the
article?

(A) T 1,677
B) T 1,667
(C) ¥ 1,623
D) 1,689

71. Whenisthe National Sports Day celebrated
in India?
(A) August 21
(B) August 23
(C) August25
(D) August29

[=] 2 =]
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67. g #fsan Bl 160 T <FF @ IS
AR TG 16 : 21 SRS Sl T4 %9 | 9 TR
afefs 79 4 Biel = gk el wfzet 3 B w
<A | R A T A2

(A) 198
(B) 270
(C) 280
(D) 284

68. T TUE 60% ST FB TUR =

G Y A | 425 @ RS Y TAS o ?
(A) 1:1
(B) 2:3
(©) 3:5
D 2:5

69. World Beneath His Feet (RIS G 2

(A) et bR i
B e %@
(C) iftre ST O}
(D) =B Ggeta
70. <6 7T 1864 59w [ie @ @ At =te
T GRS AR G = IR T 1,490 5101
i o1 1 7ie FagEy Fo2
(A) 1,677 5@
(B) 1,667 Gist
(C) 1,623 Bt
(D) 1,689 it

71, OIS TR Fel free B3 slfere 77 e

(A) 21C< =576 1
(B) 23¢+ =555 %ﬂ@
(C) 256 S5 Eﬁ
(D) 290 SHeFD
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72. The Hindon River is a tributary of which

river?
(A) Ganges
(B) Yamuna
{C) Narmada
(D) Tapti

73. If twodice are thrown, how many different
possibilities are there thdt the addition of their

outcomes is 87
(A) 5
B) 6
©) 10
D) 4

74. Nathu La Pass is situated in which of the

following ranges?
(A) Vindhyas
(B) Karakoram
(C) Western Ghats
(D) Himalayas

75. Thedefinition of unit forceis obtained from

(A) 1st Law of Motion
(B) 2nd Law of Motion
(C) 3rd Law of Motion
(D) None of the above

76. What is the proposed new name for the
legal code for India, replacing the Indian Penal

Code (IPC)?
(A) Bharatiya Nyaya Sanhita
(B) Indian Nyaya Sanhita
(C) Nava Bharat Sanhita
(D) Bharat Penal Code

SLB/23-A-2189973/14
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72. B T (I AR Sl ?
(A)
(B) T
(C) Tt
D) i}

73. W 6 TlEH G Bl < olRgE Foal

(A) 5
®) 6
(©) 10
®) 4

s

RSw Toile ©ta ToET-97 @I%iT § T2

=

74. L= #ART REERS @i Ao wafES ?

A) R Aot
B) TR
(©) ~ifsmals

(D) e

75. 4FF *&R @] AN I
(A) 29 ifS7T (A0
®B) &ow sifevg e
©) o o
D) ToEg @EIHIBE W

76. G (71 (@IS (IPC)~99 wif<rS wigreg

HiEh @Ied 2B T " Fie

(A) SIS T RS
B) e i AR
(C) TerTe HEs]
(D) SIFS (e (IS

oF0
it

4
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77. The ‘Blue Economy’ concept is primarily : 77. F TIAR = e I A

relatedz;) N— Eﬁ@ * s
£I1C c A A
(B) Ocean resources Ezﬁ ((B; ESWWW
(C) Sky-based industries o
(D) Digital technology (©) wrerfefes Fm
(D) fefemn agfes

78. ‘Batukamma’ is the State festival of which 78. IgII’ @ AT AFW SR

state?
(A) SifET E% =]
(A) Tamil Nadu N a_‘,..
(B) Telangana (B) CotFAt E%
(C) Assam (C) = '
D) Gujarat (D) wErAl

79. Which one of the following is the currency 79. FemRe ol e R Erskug @ e

) e ‘

of Bulgaria? $E
(A) Leu
T B) ¥
(B) Ruble
(©) Leva %ﬁ © &=
(D) Dollar (D) &=y

80. The HCF of two numbers is 13. If they are 80. {6 FHYIF A2, 13 RO TFAS 5: 7 |

in the ratio of 5 : 7, then find the numbers. TRYWPH [y T ESE
(4) 65,91 ) 65,91 e
(B) 25,35 (B) 25,35 liilﬁﬁ
(C) 35,49 (C) 35,49
D) 15,21 (D) 15,21

81. The 73rd Amendment of the Constitution
of India is related to which among the following?

{A) Townships

81. SRR 73N N T
i AARFS e

HERDTORMGOXARDDARX DIV EJOOERLODOLORDODTHODODDIR KD RKDT D RES D

(B) Panchayats EJ;; G

(C) Municipalities AETS

(D) District Boards (© Tl
D) T @S

L)

Please Turn Over
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82, In which year India’s former President *

Pranab Mukherjee received ‘Bharat Ratna’? ST TS TR T A
pievon E]g@ (A) 20181
(B) 2019 %
‘ ©) 2021 [x] ®) 2019
| (D) 2023 (©) 2021 ==
(D) 2023 A

83. When did the Khilafat Movement take
place?

(A) 1942-1945
(B) 1919-1922
(C) 1911-1913
(D) 1506-1908

84. The speed of a train is 80 km/hr. If it takes
4-5 seconds to cross a tree, how much time it takes
to cross a 200 meter length station?

83. RErs Sitmiew U= weale =1

(A) 1942-1945
(B) 1919-1922
(©) 1911-1913
(D) 1906-1908

(A) 13-5sec. e IS ?

(B) 13 sec. Q) 135 OTTS

(C) 12 sec. (B) 13 GTT®

(D) 12-5 sec. ©) 12 TS
(D) 12:5 CT®

85. The average of the largest and the smallest

XEBGERXDOGHERXRDT LA X DL DB DR IVOTLVD OGO OARED T RN B R

3 digit number formed by 0, 2 and 4 would be FHSY AR G J
A) 213 (A) 213
(B) 303 Elﬁ@ (B) 303
(© 312 [x (© 312
(D) 222 (D) 222
[=] 7 [=]
=

SLB/23-A-2182973/16

82. ©IRLST &S G 2T JAS ‘SR

mm

i

84. <6 Grva sfewst 80 Bfi/asst | IW o=
NeE Sfoaw FI0O 4-5 CIT AT #tsl O
B 200 67 =171 CO3H SfeT IS GRS

mym

e

85. 0, 2 93 4 far Toff 3 wERER gzew
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86. Loktak Lake is the largest fresh water lake 86, SHCIET AT 09 MR EEa M @G

in which of the following region of the country? TN (IR SRS Wfiﬁ?
| (A) North-Eastern A) TEa-
(B) South-Western EI&'E] ((B; w—?éﬁﬂ
(C) North-Western WE& o
(D) South-Eastern (C) Tea-{f5u
D) o

87. ‘Operation Flood’ is also popularly known
as

87. ST TG e w25
(A) B e (R )
(B) @AIZG e« (o4 R29)
(©) 3 @fen (JF [2R)
D) T @SRTein (T [e)

{A) The Green Revolution
(B) The White Revolution
(C) The Blue Revolution
(D) The Yellow Revolution

88. WhenwastheTenancy Actpassedin Bengal? 88. W JIET dmiEY Wﬁ? L ETE

| (A) 1885 (A) 1885 =% =
(B) 1878 [B) 1878 Py e P
(C) 1928 (©) 1928 O prres:
(D) 1868 (D) 1868

89. What is the capital of the United States? 89. R TG AN e

((g; ge\\tr York E%E' (A) o TE
oston e Nt Qo
(C) London *E]bgﬁ E?:) e
(D) Washington, D.C. ‘ ;
(D) e, 5.

90. Which number gives the same result when

1

) 90, G FH HYNS %ﬁcﬂaqwa«
added to 15 and when multiplied by 15 ?

SRaifa ST 1% 151 AT G TR NG AT ?

L R Xk i R R Q@%O@%@@%@&%@0&@%&&%‘%0G@@@@@&&@**%@**@%**@%***

(A) 1 )
@ 3 W 1 5
©) 5 B 3
M) 7 © s

™ 7

iyl
"

ﬂ.% Please Turn Over
[ s '
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91, I FITT 40 T QIR SR | GG WaRiats

% TR TS (4TS, 2wt w6 (408 3] T T
ol 8 Fb TeHg (A0S +i% I0F | (I YIRAT

91, In a class of 40 students, % of the total

number of students like to eat rice only, ‘—9'- of the

total number of students like to eat chapatti only @ 75 iR
and remaining students like to eat both, What St ?Fﬁ S e e ® 1
fraction of total students like to eat both? (A) % Elﬁ E.
! | e
= 3
@3 ®) 3 =
3
= 2
® 3 © %
© % (D) ToieE IR 7

(D) None of the above

92. The first Muslim President of the INC was
(A) Abul Kalam Azad
(B) Rafi Ahmad Kidwai %ﬁlﬂ
(C) Hakim Ajmal Khan Elﬁ

(D) Badruddin Tyabji

92, INC-<3 23 e g frem
(A) ST TN S
B) A wizEm e
(C) e wenyE A
(D) Il Cower

93, If cube root of 175616 is 56, then the value 93, 3t 17561649 T 56 ], ©&

of 175616 + 30175616 + 0000175616 is
equal to

3175616 + 0175616 + 0000175616

-4 WH— 4
(A) 0-168 (A) 0.168 Elﬁ:ﬁ@
(B) 6216 (B) 6.216 Elﬁ
(C) 6216 ©) 62.16
(D) 6116 (D) 6.116

LR X R-RE R R el R R g R gl R g g R g i - Rl - g R R g - A R gl e R gl

94. ‘Omithology’ is the study of EI%&EI 94, FCE VLI “Omithology’ I A2
(A) Fish 5 2, (A) TR
(B) Birds ®) R
(C) Coins (C)
(D) Ocean (D) Qe
[=] X [x]
=]
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95. Ruma reads at an average rate of 30 pages * 95, = 1 w6 30 & 7%t ;) T 1 wHm

per hour while Neera reads at an average rate of 40 : 40ﬁqfé-| AT AL | T TN 2:30-9 G0 TG

| pages per hour. If Ruma starts reading a novel at & . % .
2:30 and Neera begins reading an identical copy of TG!S 0 R A G2 G BATH 3:20-S ol

the same book at 3:20, at what time will they be * ¥ TU7 ©U FOI% ST I FETH <7 =[B! AP?

reading the same page? (A) 5:00 EI%EE
(A) 5:00 (B) 5:50 W‘ﬁ
B) 5:50 (© 6:40 E
(C) 6:40 (D) 7:00
(D) 7:00

96. Who won the Best FIFA Men’s Player 96. 2024 A G et (T6e) 478 Q-

Award 2024 (Football)? E4%E & 9 J7wE & Rows?
(A) Lionel Messi e (A) Fret= o
(B) Cristiano Ronaldo Eﬁ ﬁﬁﬁggm &\ ol
(©) Pep Guardiola ® gﬁf@m.
(D) Kylian Mbappe (© ot
(D) Rerm= asieat

97. Who was the Governor General of India

97. 1857 N VQRCATR T SR o
‘ during the revolt of 18577

(I (T R ?

{A) Lord Dalhousie T
(B) Lord Canning ((g; x —— E!‘S.SE
(C) Lord Lytton K E]?&ﬁ
(D) Lord Ripon (©) =16 on

(D) =6 fa=iq

98. Vasco Da Gama found out 2 néw route to 98, SicE 7! 2t Sixes b wgH # fr @9

India and in 1498 reached TN G2 1498 ARA (Aafkmm—
(A) Pulicat (1% = (A) Al
(B) Karaikal y B) FEF
(©) Goa Eﬁ (C) csffat
(D) Calicut D) sife=s

LR R R Xl R R g - g g i g R o S g g g g g R g g g i e g g R I s

Eﬁm
i
=]
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SLB/23-A-2189973/19




SLB/23 L

™

Oscars 20247
(A) King Richard
(B) Oppenheimer
(C) CObA
(D) West Side Story

increased?

(A) 22%%

®) 23%%

()] 24%%

(D) 25%%

SLB/23-A-2189973/20
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100. Arun could save 10% of his income. But
1yearlater, when his income increased by 20%, he
could save the same amount only as before, By
how much percentage has his expenditure

5

it

EXEDDEREDTD XD D RS Oi‘ﬁ{

’%E

o
g

99, Which film won the Best Film Award at *

Sl g R g g R s B R - g g R R g i - R R A i R R

r
&

fud

99, SR 2024-4 W TERE GRI SARTER
2T (TR ?

() R w6 e
®) SRR Eﬂ?
(C) @l Elﬁ
D) EEPS AiZE G

100. 574 OIF AEF 10% FeH WA G I
8 ©IF | 20% TS g BF a1 ow o2
“ifne Bigt e FEH 1 O 4703 3w g9 A

2 AL

(A) .223% Eﬁﬁ

®) 23%%

© 24%%

D) 25%%
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DO NOT OPEN THIS BOOKTLET UNTIL YOU ARE ASKED TO DO S
2023
TEST BOOKLET TEST BOOELET SERIES
English, General Studies and Arithmetics
Time allowed : 1_21. hours
Full marks: 100

Answer all the questions.

Questions are of equal value.

‘ Serial No. 2189974 Roll No.:

..................................

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:
1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the

Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy,

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
you have to fill in some particulars in the OMR Sheet. Do nrot fold the OMR Sheet as this will
result in error in your marks.

4. All questions are of multiple-choice answer-type. You will find four probable answers (A), (B),
(C) and (D) against each gquestion. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encolded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Identify thefigure of speechinthe following '*
sentence: United we stand — divided we fall,

(A) alliteration
(B) antithesis
{C) assonance
(D) pathetic fallacy

2. Fill in the blank with the appropriate
preposition from those given below:

He left his phone the bed.

(A) at [=] 3=
(B) in

©) on CIRSeeh
D) to

3. The noun form of ‘Break’ is
(A) Breaking
(B) Broken
(C) Broke
(D) Breach

4. Insert the correct word(s) in the blank:

He stayed at home because he
cold.

(A) is having
(B) was had
(C) having
(D) had

»
HERGORXRXSO ARG A X ODODZLOLDDBIJZTOSTIDVDDIOTTODTLIOONED O NN G NN L MR

5. Identifythefigure of speechinthefollowing

6. Replace the underlined verb with the
appropriate phrasal verb from those given below:

He must increase the production.

(A) step into [l 35
(B) steepinto

(C) stepup 23
(D) steep up

7. Give one word substitution for a person
who compiles dictionaries.

(A) Psephologist

(B) Lexicographer
{C) Curator

(D) Cartographer

8. Replace the underlined word with the
appropriate idiom from those given below:

He has incurred debt.

(A) run up to

(B) run ount of .

{C) run through E] [=]
(D) run into EI .

9. Change the following sentence into an
affirmative one:

He is so weak that he cannot walk.
(A) He is too weak to walk.
(B) He cannot walk because he is weak.
(C) Walking is impossible for him for he
is weak,
(D) Weakness disables him from walking,

10. Rewrite the following sentence in the
comparative degree:
This book is the most interesting book I
have read.

sentence: (A) Thisbookismore interesting than any
To err is human, to forgive divine other book I have read.
(A) Hyperbole [m]35[=] (B} This book is very interesting.
(B) Epigram e (C) This book is superb.
(C) Irony (D) This book is very much interesting
(D) Antithesis than other books I have read.
[=] K =]
=155
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11. The umbrella which has a broken handleis *

mine.

12,

13.

What clause is this? of
(A) Adverb Clause T2

=]

(B) Adjective Clause
(C) Noun Clause
(D) None of the above

Change the voice:
The gate was opened by the peon.

(A) The open gate let the peon in,

(B) The gate opened to let the peon in,
(C) The peon opened the gate.

(D) The peon opened the closed gate.

Change the following sentence into a

Negative one:

He is as good as I am.

(A) Iam not better than he is.
(B) He is better than me.

(C) Tam better than him.

(D) Heis not as good as I am.

14. Choose the correct option to complete the
sentence:
I have been at the painting.
(A) looking .
(B) looked [m]
(C) look ] 2
(D) looks
15. When he gets his degree, he will have been

studying at Oxford for four years.— Which tense

is this?

(A) Future Continuous Tense

(B) Future Perfect Tense

(C) Future Perfect Continuous Tense
(D) Present Perfect Continuous Tense

SLB/23-B-2189974/03
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16. Choose the correct pair of antonyms from
the pairs given below:

(A) defriend-unfriend
(B) borrow-lend

(C) help-aid

(D) cajole-coax

OFD

17. Fillintheblank with the correct conjunction:

We carved not a line, we raised

not a stone.

(A) and
(B) but
(C) neither
(D) or

18, The plural form of ‘Deer’ is

(A) Doe [=] 35 0=l
(B) Deer :'E
(C) Deers [=] s
{D) Drakes

19. Choosethe correctsentence from the options

given below:

(A) Nothing by chance happening ever
(B) Nothing ever happens by chance
(C) By chance nothing happening ever
(D) By chance ever nothing happens

20. Rewrite the following sentence in the

positive degree:

2
=

)

He is the heaviest of all the boys.

(A) He is one of the heaviest boys.

(B) No other boy is as heavy as him.
(C) He is one of the heavy boys.

(D) He is heavier among the heavy boys.

Please Turn Over
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21. It was expected by the Romans that they
would conquer Carthage.

The Active Voice of the above sentence
will be:
(A) The Romans expected to conquer
Carthage.

(B) It was expected that Carthage would
be conquered by the Romans.

(C) Carthage, the Romans expected, was
to be conquered.

(D) Carthage was expecting to be
conquered by the Romans.

SLB/23

22. Identify the participle in the following
sentence:

Hearing the noise, the boy woke up.

{A) Noise E EI
(B) Boy o
(C) Hearing ] 2o
(D) Woke

23. Choose the correct option to complete the
sentence:

I rushed to the door when the doorbell
(A) ring

(B) ranged

(C) ringed

(D) rang

24. Have you read Gulliver’s Travels?
The sentence is an example of
(A) Present Perfect Tense
(B) Present Continuous Tense
(C) Simple Present Tense
(D) Present Perfect Continuous Tense
25. Identify the incorrect spelling. =I5 [E
(A) Dissent E :

=
&

HEBDOXXDEGARRDSGEXDIJOOBLJOHFTLJUSIODOOOO[O OO0 0GR MDD KN DG WD T WK

26. Fill in the blank with the correct option:

grain they had was damaged by

sea-water,
(A) Alittle (] 2=l
(B) Little BP%
(C) The little []
(D) Solitile

27, Replace the underlined portion with an
idiom from the list below:

He will never be able to do_anything
remarkable,
(A) Heap coals of fire upon his head
(B) Set the Thames on fire
(C) Let the grass grow under his feet
(D) Pat the screw on

28. Which of the following is not an Abstract
Noun?

(A) Goodness
{B) Youth
(C) Poverty
{D) Parliament

29, Fill in the blank with the appropriate word:

People get and don’t listen any
more. [=]5% =]

(A) bore

(B) board [m] 2es

(C) bored

(D) boring

30. Turnthe following sentence intoaquestion:
He was a villain to do such a deed.

(A) How was he a villian to do such a
deed?

(B) Whydidhedosuchavillainous deed?

(B) Decent (C) Washenotavillain todosuchadeed?
(C) Descent (D) What made him do such a villainous
(D) Discent deed?

[=] X [=]

[=
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31. Loktak Lake is the Jargest fresh water lake
in which of the following region of the country?

(A) North-Eastern
(B) South-Western
{C) North-Western
(D) South-Eastern

32. A person has to cover a distance of 6 km in
45 minutes. If he covers one-half of the distance in
two-thirds of the total time; to cover the remaining
distance in the remaining time, his speed must be

(A) 6 km/hr mEE
(B) 8 km/hr
(C) 12 km/hr [m] 2%
@) 15 km/hr

33. Arm could save 10% of his income. But
1 yearlater, when his income increased by 20%, he
could save the same amount only as before, By
how much percentage has his expenditure
increased?
2

(A) 22-6%

®) 23%%

()] 24%%

D) 25%%

34. A started business with ¥ 30,000 and after
4 months, B joins with A as his partner. After a
year, the profit is divided in the ratio 2 : 3. What is

F
th

EEEQDRAKEDIOIAESD R X OTOLHASURD2OD0DD OO0 D0 DD O DN DD NG ND ek

B’s contribution in the capital? [™] 35 =1
(A) T 65,700 by
(B) T 65,000 EIEE
(C) % 67,000
) T 67,500
[x
[=

h SLB/23-B-2189974/05
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31, SRS AIGE 0% K A W FIhT
(TR (I S9a SIafRs ?

(@A) Te<f{ E@%
(B) whw-sifoa [x] 2275
(C) Tea-siisy

(D) W=

32. % & 45 WG 6 Reifor @y weay
400 i | 3 (T NG Tras R PORIKeR Wog
WA 1AG SfeE A0 ©F e T 2A?

(A) 6%/ =%
(B) 8=/ 751
(©) 1276/ =6
D) 15 R/ w6

33, o O WED 10% AL FEA | GF I8
T3 ©FF T 20% AT 78 R 7Itfa T «g
AT BRpt e T | O 490 3w 7T FAefT
)

2
#) 225%

(B) 23%%

© 24%%

®) 25%%

34, A, 30,000 G = e @ gt o
LA G O 4 A A B, A-9F AR €% JIAN
& o | I #10F 2 : 3 SAS I Aegiee oot
91 20 | % JIPIA B9 i el <t

(A) 65,700 Bzt

(B) 65,000 BrF Eﬁ%
(©) 67,000 51 E—"E'}.z:
(D) 67,500 B/
E Please Turn Over
2
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35. A boy’s height is 133 cm at the end of a * 35, 5= (17 9T AT Tl 133 G |
year. His height increased by 6:4% during the * 2% zurz o1z Swe! 6-4% = I #i1 o3 TuEd

year. Find his height at the beginning of the year. r UFCS B THo! T© e ?
(A) 125 cm o (A) 125 GifR (=13 [=]
(B) 120 cm * (B) 120 ¢if¥ [ Yo
(©) 110cm (©) 110 &ifal
(D) 118 cm * (D) 118 &if¥
a
36. What is the capital of the United States? : 36. WET TEET arEy e
(A) New York E E & (A) ST
(B) Boston o @
- o B)
(C) London [m]22% - (©) T
Washington, D.C. &
o Yoo o (D) A, b
o
o
37. ‘Asol Aap’ is a popular canoe race from : 37. GiiE S (@R G0 wwiEE WiE @iy
(A) Andaman & Nicobar Islands o (A) S @ freiae Qivielg .
(B) Chhattisgarh o (B) Tt (=15 =
(C) Manipur b -
. s (C) wfdiafm [w] 2o
(D) Himachal Pradesh
pd (D) fRaisen =iz
®
38. Which day is celebrated asa ‘World Blood & 38, #fe<sz @ =l e sewimama e
Donor Day’ every year? S REE Al (S@ie) st T2
(B) 14th June
B) 1
(C) 14th July _f ®) 1§Eﬂ
(D) 10th September ; © ) S
M (D) 10% G051
*
39. A sum of money is divided among 160 % 39, g Afawe Bt 160 o o @ EwEn
males and some females in the ratio 16 : 21. * RZEAR N4 16 : 21 THITS Bl 21 22 | 97 T

Individually each male gets T4 and a female T 3. ~ af%f 9 4 Bl B0 Gk Al wfEEt 3 B

The number of females is E] E i e | WA Hezt F© A2
(A) 198 f (A) 198
(B) 270 (o] 2 (B) 270
(C) 280 * (C) 280
(D) 284 : (D) 284
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40. Which one of the following is the currency
of Bulgaria?
(A) Len
(B) Ruble
{C) Leva
(D) Dollar

41. ‘Batukamma’ is the State festival of which
state? .
(A) Tamil Nadu E E
(B) Telangana E :
(C) Assam
(D) Gujarat

42, Last week, 8,000 copies of a certain
magazine were sold. This week, 7% more copies
were sold. How many copies of the magazine were
sold this week?

(A) 8,650
(B) 8,560
(©) 7,600
(D) 8,500

43. 60% of a numberis equal to the % th of the
other number. What is the ratio between the first
number and the second number?

a) 1:1
B) 2:3
© 3:5
D) 2:5

44, Which layer of the atmosphere prevents
ultraviolet rays from coming on the surface of the

earth? :
(A) Stratosphere %
(B) Troposphere ] 22%3
(C) Ionosphere
(D) Mesosphere

SLB/23-B-2189974/07

[=] ;3 =]

ERXKDOXRRDORXDD AR DIDIZOODLSDHODDDJIOJDODDODODSHNDDRED D WD DN RE ?;

3

B s

40, FEERT TR N @b T e
(a) e E%E
(B) FI | :
(C) Gc) E
(D) e

41, ITIEA’ @ TR AT SFR?
(A) OIfFAD
(B) CoTETEHA
(C) Wi

(D) e

42. ¢ ANZ GIH WieEER 8000 FH [
| R ILZ 7% @R I R = R A I
0 wpiaifem e @e _

(A) 8,650 [5]3,[=]
(B) 8,560 ; 3
(©) 7,600 o

(D) 8,500

43, G YW 60% o R FAE
SR AL A | 2 6 BRI A AT Fo ?
A) 1:1
®) 2:3
© 3:5

®) 2:5

44, IS @ISR AR RS
TS 4! (T2
(A) HdFFER
®B) Gt
(©) wmmFERE
O) cwReEng

Please Turn Over
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L
45, Vasco Da Gama found out a new route to
India and in 1498 reached

(A) Pulicat
(B) Karaikal
(© Goa
(D) Calicut

46. When did the Khilafat Movement take
place? .
(A) 1942-1945 El EI
{B) 1919-1922 E]
(C) 1911-1513
(D) 1906-1908

47. The ratio of a man’s age and his son’s age
is 7 : 3 and the product of their ages is 756. The
ratio of their ages after 6 years will be

(A) 5:2
B) 2:1
© 11:7
D) 13:9

48. The 73rd Amendment of the Constitution
of India is related to which among the following?

(A) Townships
(B) Panchayats
(C) Municipalities
(D) District Boards

49. Find the sum:

278 TN RS 2
1.1 .1 ok
E -

90 ' 110 = 132
7

(A) 3
11

(B) =

15
16
17
18

B-8

*

*

LR R R R b i R g R g R R R s R e B R 3 R R Bk R R R R R )

45, St vl S Siae 99 T 2 0% &K

El%lii
] 2%

FE R 1498 T CliERET—
(A) Ao
(B) TRIZH
(C) st
(D) s

46, RENTS SNCHIE FA7 AEHS 272
(A) 1942-1945
B) 1919-1922
(O) 1911-1913
(D) 1906-1908

47. 3 &8 O #[077 AER TAS 7 : 3 QR
SIE TAEH 9T 756 | 6 =T AT O IWER
e I

(A) 5:2
B) 2:1
©) 11:7
(D) 13:9

48, SRS AR 73S B D

At Ao ? &];
(A) T
B) S IR
€) At
(D) ce= 6

49, o= Wm0 2

+L+ 1 1
90 "110 ' 132

@ g

B) =

G
&
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50. The International Union for Conservation * 50, TH[Eepiiae BRI T4 SSRGS TF
of Nature (IUCN) has the headquarters at GBI (IUCN)~97 WY 789 TE—
(A) Kenya A) @Rl E]
(B) Budapest =
(©) Switzarland (B) D 5]
(D) Rio-de Janeiro © i' I
(D) fRef% el

51. Aisthriceas goodas B.and thereforeisable
to finish a work in 80 days less then B. Find the

51. A, B4 309w GR GRITE A, B-4F

(T3 80 A SIst G0 i (1 Q| O GITH

number of days required to complete the work if » e FolE oF T ©f {9 T
they are working together. E E (A) 20 =

(A) 20 days B) 32 =

(B) 32 days [= 1 (©) 30w

(C) 30 days 40 F

(D) 40 days ®

52, Who is the founder of Facebook?
(A) Steve Jobs
{B) Mark Zuckerberg
(C) Larry Page
(D) Bill Gates

- 53, Which of the following waves has the
highest frequency?

(A) Radio

(B) Infrared

{C) Microwaves

(D) Gamma-rays

54. World Beneath His Feet is a biography of
whose personality?

(A) Pullela Gopichand ==
(B) Nawab Pataudi HP%
(C) Ajit Wadekar (]2
(D) Sachin Tendulkar

ey - R R R R A R R R R A R R R R E-R-R-R- RN Rl R- R RR R R i

e
s

SLB/23-B-2189974/09

52, (A AT (e
(A) 6% oA
®B) & s
(C) =ulf c-iEm
D) Rt ol

53. NG @R SAER FAE FER Qe
A) @few .
® s %
(C) WiRgwiews (W] 2%

D) -y

54, World Beneath His Feet NG ER 2
(A) S CAEm
(B) IR #vsl
(C) of¥re eqTa
(D) B G

Please Turn Over




O = B10

55, If cube root of 175616 is 56, then the value

»*

55, M 175616~ e 56 T, O

of 3175616 + 30175616 + 30000175616 is
equal to

(A) 0-168 :
(B) 6216 %
(©) 6216 W] o5

(D) 6116

$175616 + /0175616 -+ 3/0-000175616
—q Wi —

(A) 0.168 EI" %
(B) 6.216 ]
(C) 62.16 I=]

(D) 6.116

56. Two pipes can fill a tank in 20 and 24
minutes respectively and a waste pipe can empty
3 gallons per minute, All the three pipes working
together canfill the tankin 15 minutes, The capacity
of the tank is

(A) 60 gallons

(B) 100 gallons
(C) 120 gallons
(D) 180 gallons

56, T #ARCAT ARICT G ib 5% T 20 RiRG
8 24 s ©fF T2t 1w =k A AR sy
1 TIRE 3 st wre <itfer vt 2w | e of e
“if3s 1% FI OK HiEh ©fF o 15 BFD Tw
=ieat | Bl oo snew o gt

(A) 60 ST
B) 100 s
(C) 120 sirE=
D) 180 sy

57. If the simple interest on ¥ 500 for 4 years is
¥ 100, then what is the interest per annum?

(A) 10%
B) 5%
(©) 8%
(D) 6%

57. I 500 GieE 4 2T F9A W = 100 Bl
OIFE AR oF A T YT FO L
(A) 10% .
®B) 5% [ =]
(C) 8% w5z
(D) 6%

58. A train starts from Howrah at 8 a.m. and
reaches Burdwan at 12 noon. Another frain leaves
Burdwan at9 a.m. and reaches Howrah at 12 noon.
When do they meet?

58. <37 G O 8 BRI QST (AT A O I
3R 12 B I (AR 15917 76 G 1 75
T (ACF G ©F I YT 12 B et ohe)
i i filfere 29 e

(A) .17% mins past 9 a.m. (A) Tl 95t 17% G

L .
®) -17? mins past 11 a.m. B) 9 1151 17% R

© 17-1- mins past 10 a.m.
= P

(C) i 1051 17%. R
(D) 10am.

D) = 10 B

*
3
@
*
>
)
2
*
*
3
¢
»*
»*
2
-
G
&
3
]
B
3
o
]
G
G
3
@
3
G
2
G
B
&
&
2
o
@
&
%
)
=]
*
*
3
2
*
»*

2 o

y @
*
*
Lo
3
*
*
>

%
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59. Which film won the Best Film Award at
Qscars 20247

(A) King Richard
(B) Oppenheimer
(C) CODA

(D) West Side Story

60. The average of the largest and the smallest
3 digit number formed by 0, 2 and 4 would be

(A) 213 .

} (B) 303 [l
(© 312 o
(D) 222

61. Bysellingabicyclefor¥2,050,ashopkeeper
gains 25%. If the profit is reduced to 10% then the
selling price will be

(A) ¥1,600
(B) ¥ 1,804
(© 1,805
D) T 1,800

62. The HCF of two numbers is 13, If they are
in the ratio of 5 : 7, then find the numbers.

(A) 65,91
(B) 25,35
(C) 35,49
D) 15,21

63. Which of the following rivers is the Ukai

dam situated across?
%ﬁ
Y
E] 5

(A) Narmada
(B) Tapti

(C) Mahanadi
{D) Krishna

SLB/23-B-2189974/11

(=13 []

B-11

L R

: 59, SEIE 20249 I TG GIFT Geiboad
ATRIT (AT ?
(A) = e
B) R E%%
(©) @& [m] 25
(D) eGFS ARE FHR

60. 0, 2 €% 4 Tuzx Cof¥ 3 wERME qTe @
TS AT 5 I
(A) 213
(B) 303
(© 312
(D) 222

61. 9T (T @6 IRARE= 2,050
rem R S 25% e FE| T B Q%
e [T s ofF witen AW ¥ 10%
Rk .

(A) 1,600 Gt E%
(B) 1,804 Bis [m] 23
(© 1,805 Bt
D) 1,800 5=t

62. 0 IR A7, 13 GRS HIAS 5: 7 |
)W Pl @t
(A) 65,91
(B) 25,35
(C) 35,49
(D) 15,21

63, EI (P 17 Toig Tz TG sfEe?
(A)
®B) =ifE
(C) =R
(D) F=

HEEBEDTHREDOTREDDI AR DEGOOHRR2ODDZOJOLBBRDVDOIOEOOOORKFET LSRRG EXD O

T
=]

Please Turn Over
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64. The first Muslim President of the INC was %

(A) Abul Kalam Azad
(B) Rafi Ahmad Kidwai
(C) Hakim Ajmal Khan
(D) Badruddin Tyabji

65. Who won the Best FIFA Men’s Player

Award 2024 (Football)?
(A) Lionel Messi
(B) Cristiano Ronaldo
(C) Pep Guardiola
(D) Kylian Mbappe

66. Whenisthe National Sports Day celebrated

in India?
(A) August21
(B) August 23
(C) August25
(D) August29

67. Write the missing number:
4,9,17,35,7,139
(A) 63
B) 65
(©) 67
(D) 69

(=%, [s]
Ok

64. INC~93 & T qRATS farmm
(A) WIgE TN HE
B) IR onzem Rweaig
(C) 2R SiEwE U
(D) T (ORI

65. 2024 AT T Fwel (F09T) #4378 AR

9 STHR (S e ?

(A) Frétwe aifey

(B) TR @mEm
(C) oot siifSeat

(D) Rfm= as=itst

66. SiaTe Tl Fel e = Ao e
(A) 216 Sep%
B) 2304 S
(C) 25¢+ =i
D) 29¢¢ =H9PB

67. SIS FRYIG =Tt 2
4,9,17,35,1, 139
(A) 63
B) 65
©) 67
®) 65

[}y [

- TR

68. The speed of a boat in still water is

68. T35 we il chieere siferel 15 B/t
15 km/hr and the rate of the current is 3 km/hr,

qR @&itex sifogel 3 FeRl/st @it 12 fifG

KRBT ERDEARDE R X DJHODEOD2ALDOA5L0ZT2LO0DL0008D5500 WG T WED DN NN

;Is'he distance travelled downstream in 12 minutes IS SR TS A wfows 990
A) 12km ] A) 12 ="
(B) 1-8 km ®) 1-8 R=fisE
(C) 24km ] s (©) 24 R
D) 3-6km D) 3-6 FEifoE
[=]5 ]
L
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69. Iftwo dice are thrown, how many different
possibilities are there that the addition of their
outcomes is 87

(A) 5
B) 6
© 10
(D) 4

70. Nathu La Pass is sttuated in which of the

following ranges?
(A) Vindhyas ] 35 ]
(B) Karakoram 3
(C) Western Ghais E
(D) Himalayas

71. The profit earned after selling an article for
¥ 1,864 isthe same as loss incurred after selling the
article for ¥ 1,490. What is the cost price of the
article?

A) T1,677
®B) T 1,667
(C) ¥1,623
(D) 1,689

»y

72. Ruma reads at an average rate of 30 pages
per hour while Neera reads at an average rate of 40
pages per hour. If Ruma starts reading a novel at
2:30 and Neera begins reading an identical copy of
the same book at 3:20, at what time will they be

reading the same page?
=] '?'EI
<
(] 273

(A) 5:00
(B) 5:50
(C) 6:40
> 700

[u] '3 [=]
%=

SLB/23-B-2189974/13

S
69. Tft b Tz IR BiE T OE Foaf
7 Bina OIe TTE-F @6 8 AT

@A) 5 N
®) 6
g;; " ]2

70. TS REFRe @ et w1Es ?
(A) Ry Aowet
(B) IR
(C) Afs’
(D) e

71. 9% 5 1864 b i w3 @ Afdwit aie
o (R R SR etz TR u e 1,490 Brerg
R vt 1 77 FIET T 0

(A) 1,677 51 E;%E
(B) 1,6675R1 (=]
© 1,623 %51
D) 1,689 5

72. #= 1 %o 30 5 ot @3 Tt 1 96T
40 5 711 #fers #Ac | IW T 2:30-9 <3 T
4T OF T G T ST 9% TATI 3:20-(S AT
F I O FIF TR SR & 43R 7B AT ?

(A) 5:00
B) 5:50
(C) 6:40
(D) 7:00

ERRSGGAREDOE XD OR X QD OOHDDSVVLOVD[OQHRDDOOO DO DO TN N D NN DT MDD NN

Please Turn Over
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73. Which city was recognized as the world’s * 73. oI W=7l 2024 it Rods 7RoeE G

. e . »*
most sustainable city in 2024? % (sustainable) *iZ7 RE %@ R ?
(A) Copenhagen

(B) Singapore (A) SRR [l % [we]
(C) Helsinki ®B) TR ok
(D) Reykjavik ©) it I

D) s

74, <G JHAMGA 21 ©F LA 84 T FAT
TR ©IF 51T A 2 II0T 9T 21 ©F SWER A o

74. A batsman makes a score of 84 runs in the
21st innings and thus increases his average by

2 runs. His average runs after 21st innings is 5IG AW I
(A) 24 It (A) 24
®B) 34 = (B) 34
©) 44 [ 2% (©) 4
(D) 54 D) 54

75. In which year India’s former President 75. ©ITeq e gl e idt ‘sreay’

Pranab Mukherjee received ‘Bharat Ratna’? ATH T FREEN IO A .
(A) 2018 (A) 2018 [=] % =]
(B) 2019 (B) 2019 3t CIRS
© © 201
(D) 2023 A

76. Which day is observed as “World AIDS
Day’?

76. @R fimfore Rt i et R =il
T WY

(A) December 4 A 4 .
(B) December 10 FeiE
(C) December 14 (B) 10 ftoma
(D) December 1 ©) 14 o1

(D) 1wmEe

77. The Hindon River is a tributary of which 77. % AR G RS o ¢

HKERSGOD ARG DR HSS XX DOV AVTRDOTTODEERDTOT DO ERDH

river?
(A) Ganges [=]3[m=l C(]‘:) A
(B) Yamuna ) Tl
(C) Narmada ‘ (©)
(D) Tapti D) i
=] & [=]
-0
=
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78. Avendorlosesthe selling price of 4 oranges : 78. < TTet 36 b FwereEr i sm @ «fams

on selling 36 oranges. His loss percent is
(A) 10%
(B) 11%

© 12-%-%

(D) None of the above

79. What is the term for an artwork painted

* GO o © 4% ey Rempn ) o

% EIEE F
(A) 10% [=; I::,_I
(B) 11% =] 23
(©) 12%%
®) ToiEg @D 7

79. O3 (N TR St ao s Rewie

directly onto a wall? . IAIRH?
(A) Fresco &E‘% (A) &CEl
(B) Mural ] RaRs
(C) Graffiti ®) ﬁ
(D) Tapestry (©) =t
(D) Tt

80, In a class of 40 students, % of the total

number of students like to eat rice only, % of the
total number of students like to eat chapatti only

and remaining students like to eat both.
fraction of total students like to eat both?

A
®)

©
(D) None of the above

U] LWL L=

80, 935 FICT 40 T RIRIA! iTE | R DERE

%wmwm, %wﬁma«aﬁww
©lw ¢ Fi T (I7S *in% 9 | (I YERa T

e ole 8 Fib TR (A0S *eH T2
‘What .

1 [m] 35 [x=]

&) 3 e
3 ] 2%

® 3

© 2

(D) ®eitad HIIbE 7

XEXDOHXASE XA AR DO RILDIOBTROCEDDDOODDORTOIROTRENDT T RRDDS ERD

81. Which number gives the same result when '
] » 81.7’4‘11@@%[[1@1%1%@%%@%
added to IE- and when multiplied by 1-5 ? B

@ 1 RGN 1 Qo T IR A AW 2

®) 3 Elg' [=] @) 1

© s L (B) 3

D) 7 [] e ©) 5

D) 7
. ;;_'jm Please Turn Over

i
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82. What is the proposed new name for the *
legal code for India, replacing the Indian Penal * x SIS T SR we A A

Code (IPC)?

(A) Bharatiya Nyaya Sanhita
(B) Indian Nyaya Sanhita
(C) Nava Bharat Sanhita

(D) Bharat Penal Code

83. The least number of five digits which is
exactly divisible by 12, 15 and 18 is

(A) 10010
@B) 10015
(C) 10020
(D) 10080

84. Name the Indian athlete (Javelin thrower)
who has won the gold medal in Paavo Nurmi

Games, 2024.
(A) Abhinav Bindra
(B) P.V. Sindhu
(C) Neeraj Chopra

(D) Tajinder Pal Singh Toor

85. A train 240 m long passed a pole in 24
seconds. How long will it take to pass a platform

650 m long?
(A) 65 sec.
(B) 89 sec.
(C) 100 sec.
(D) 150 sec,

SLB/23-B-2189974/16

82. 3T (oieiel (B1® (IPC)~a SIS Sierey

(A) ST T FRe! .
(B) 2o o KR! EI5IE]
(C) TS e [m] %

(D) SIS (A== (FIe

83, +Iiv S%q W Faes WYl 12, 15 9K 18

PP ) ) B i T
[ (A) 10010
[m] 2% (B) 10015 m% &=
(C) 10020
(D) 10080 =]

XX RSO R RDD RIS DIJDOSLOVDJODPTZIRDDJDOELDDHDRORRKDTORRTEREDD

84. (PN SFOT SFED (Tehm Freswd
FIGIRET) 2024 AT 2Ast @ G GG A0S
G FCAWRA?

(A) wfSw3 fmar
®) P . Fg
(C) e (Hiofe!
(D) e e PR 59

85. 240 fibF 9 GIB G 24 G I
(T Siows | GAb 650 ol == a3

E%[E AFTHF ST TS T TN (A& ?
% (A) 65 TS
CIKES (B) 89 GT®
(€) 100 5T
D) 150 e
[x] K [=]
=
=l



86. Whenwasthe Tenancy ActpassedinBengal?

(A) 1885
(B) 1878
(C) 1928
(D) 1868

87. Which of the following is the first beach in

Asia to get Blue-Flag Certification?
(A) Arambol Beach, Goa
(B) Chandrabhaga Beach, Odisha
(C) Marina Beach, Tamil Nadu
(D) None of the above

88. The ‘Blue Economy’ concept is primarily

related to

(A) Agriculture EI- E
(B) Ocean resources E 3

(C) Sky-based industries
(D) Digital technology

89, Who was the Governor General of India

during the revolt of 18577
{A) Lord Dalhousie
(B) Lord Canning
(C) Lord Lytton
(D) Lord Ripon

90. ‘Ormithology’ is the study of

P
fury
~1

e SLB/23

86. I3 RN LTEG SASA S ZH 2

(A) 1885 .

(B) 1878 El @é
(©) 1928 ] 2%
(D) 1868

87. AGA FH FHGEOL GFEE 22 G-
fATstt cotT e

(A) AN s, Gt
(B) TEreidl (e, et
(€) GfEmt vres, SifiEmig
(D) ©5is @D

88. G TRAW 4= sivfiveim g

() TR

(B) SRPitsid 7w
(C) wRfefeT Fm
(D) Tefmn= agfe

89, 1857 e TR 7Y ©iAced sfo-d
&HiEE F e

(A) =16 S EIH @ E]if
(C) =6 foioq
(D) =16 faoH

90, FFH FYIAE ‘Omithology’ o1 27 ?

HEMGETREDDIRXDEX X DDDOHJ2202000TTLDDDDDDT DO D00 O ND D DD DD N

(A) Fish w3 =] (A) WIE

(B) Birds B) *ifd

(C) Coins CIKE 35 © =

(D) Ocean (D) RS
%Fﬂ [=] Please Turn Over
[=] 7%
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91. Acando%partofaworkinSdaysandB 91, AWW%WSWW&?{B@

can do % part of that work in 6 days. A and B ¢ J&d % Bt 6 I | A6 B AT I T

together complete the work in 6 E =]
(A) 3 days ] 3y ] (A) 3 Fe
(B) 6 days B b ®) 6w ] 237
(D) 4 days (D) 4w

92, In which year was the Clympic Symbol
designed?

92, RFAERAHT Pe CEign al @ RE ?

A 1915 (A) 1915

(B) 1913 3
(B) 1913 (C) 1920 = @2
o 192 o =

93, In which year the newspaper ‘Times of
India’ was first published?

93, (@7 AN ‘Times of India’ 2|29 2FF e T2

AKX DR XD ARXDISTDZISOSDLDODLOODOOODO LD DN TN DD MDD NN T RN

A 1875 (A) 187571
(B) 1858 (B) 1858 At
(©) 1867 (C) 1867 Sl
(D) 1862 (D) 1862 A=
94, Bar is a unit of mHEE 94, Rxferide @i te 9o T I

(A) Force &% (A) =
(B) Power [ s ®) el
(C) Work

©

Pre

43))] SSUTE ®) B

I
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95. Who is the famous personality known *

il
L

95, iR e Iam i wievwiee ot

for their role in the anti-apartheid movement in

South Africa? ? R ;‘”Z’ ﬁm e
(A) Nelson Mandela ezl %
(B) Morgan Freeman (B) =St frsui= lﬁ%\::
(C) Drake €) & B
(D) John F Kennedy (D) & IF &FAG

4-5 seconds to cross a tree, how much time it takes

to

as

96. ‘Pampas’ are extensive grasslands found in
(A) North America

(B) South America [=];
(C) Africa .
(D) Asia [=]

97. The speed of a train is 80 km/hr. If it takes

cross a 200 meter length station?

96. “A=AART, RgS Sl GRIE #teat am—

(A) Teg SEfE
(B) Wit St
(C) =izl

(D) @bt

97. <36 G sifrst 80 [Rl/=%1 | T alo
LT SoT TS 4-5 GFS Tm NSt Oige
a6 200 o1 o7t GO o Fare Gl To

(A) 135 sec. I SIS 2

(®B) 13 sec. (A) 135 T

(©) 12 sec. ®B) 13 oS

D) 12-5 sec. ©) 12 G
D) 12-5 =TT

98. ‘Operation Flood’ is also popularly known
(A) The Green Revolution (=
(B) The White Revolution Wﬁ
(C) The Blue Revolution E x

(D) The Yellow Revolution

XX KDETEXSOHRAXSGDT XSSV ULORODROT ORI ORAEDTOREDTDT MDD R

[
Lz
=

&
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98, TP FIC - THAT N 75T

(A) fam cefem R [ReR)
(B) @RS @SFER (de Rg)
(C) 3 cTofre«H (fe [e)

(D) AT @A (T [2J)
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99, Thedefinition of unit forceis obtained from %

(A) 1st Law of Motion :
(B) 2nd Law of Motion E] E
(C) 3rd Law of Motion [w] el

{ID) None of the above

100. Underthe Free Movement Regime (FMR),
tribes living along the border can travel up to what

99, ¢ wifeq A “HeTl I [=] 3 [w]
GVECER Dy feiad e
B) e sifeg e
©) w8 Ao =
(D) o iDE

100. & Tews @fEN (FMR)-97 S8, A0S
TRFRR SwEat ot welk o oo feew

distance inside the other country without a visa? o Y o2 T TS ST 2 N
(A) 5 kilometres @) 5 E] E
(B) 8 kilometres . ReCTIRGr 3
(©) 16 kilometres =] =] ®) 8 Rt O
(D) 20 kilometres Ok (C) 16 R
(D) 20 FrefiEE

0 B R IR O g O R R R Rl R R R

WD T ND S WD L N G@Q@@Q@OO&&&%

o0l
1E;

=%
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DO NOT OPEN THIS BOOKLET UNTIL. YOU ARE ASKED TO DO S
2023
TEST BOOKLET TEST BOOKLET SERIES
English, General Studies and Arithmetics
Time allowed : 1 % hours
Full marks : 100

Answer ¢ll the questions.

Questions are of equal value,

Serial No. 2189975 . Roll No.:

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
Page Nos. and Test Booklet series on each page and bring at once to the Invigilator’s notice
any discrepancy.

2. Answers will have to be given in the OMR Sheet supplied for the purpose.

you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will

|
|
|
{- 3. Before you proceed to mark in the OMR Sheet in response to various items in the Test Booklet,
: result in error in your marks.

4, All questions are of multiple-choice answer-type. You will find forr probable answers (A), (B),
{C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
OMR Sheet with Black Ball Point Pen.

| 5. One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encolded for a
particular answer, it will be treated as a wrong answer. Use of whitener is strictly prohibited.

6. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.
7. There are blank pages at the end of this Booklet for Rough Work.

8. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
of the examination.
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1. Have you read Gulliver’s Travels?

Q

2

6. It was expected by the Romans that they

The sentence is an example of E%E would conquer Carthage.
(A) Present Perfect Tense v [ The Active Voice of the above sentence
(B) Present Continuous Tense [u]’ will be:
(C) Simple Présent Tense (A) The Romans expected to conquer
(D) Present Perfect Continuous Tense Carthage.
(B) It was expected that Carthage would
be conquered by the Romans.
C) Carthage, the Romans e ted,
) 2. Theumbrella which has a broken handleis © to be cgnqu ered. xpected, was
mine.
Carthage was expecting to be
‘What clause is this? ©) & P &

(A) Adverb C1 conquered by the Romans.
verb Clause

(B) Adjective Clause 7. Replace the underlined portion with an

(C) Noun Clause idiom from the list below:
{D) None of the above He will never be able to do anything
remarkable.

(A) Heap coals of fire upon his head
(B) Set the Thames on fire

(C) Let the grass grow under his feet
(D) Put the screw on

3. Turnthefollowing sentenceinto aquestion:
He was a villain to do such a deed.

(A) How was he a villian to do such a
deed?

(B) Why did he dosucha villainous deed? 8. Choose the correct option to complete the

(C) Washenotavillaintodosuchadeed? sentence: .
(D) What made him do such a villainous Ihave bee.n — atthe painting.
deed? (A) looking ]
(=] = ®) looked u,-!i%
%" (C) look [l
(D) looks

4. Change the voice;
The gate was opened by the peon.
(A) The open gate let the peon in.
(B) The gate opened to let the peon in.
(C) The peon opened the gate.
(D) The peon opened the closed gate.

9. Choose the correct pair of antonyms from
the pairs given below:

(A) defriend-unfriend
(B) borrow-lend

(C) help-aid

(D) cajole-coax

5. Fill in the blank with the appropriate
preposition from those given below:

10. Change the following sentence into a

Negative one: [w]%[=]
He is as good as I am. i .
DA

HEEGDOHRDIO A XSS ERE DSOS ODIDOODSBOOGOSOGO OO SR NS N N Dy DN DY kR

He left his phone the bed.
(A) at (A) I am not better than he is.
®B) in (B) He is better than me,
{C) on (C) I am better than him,
(D) to (D) Heis not as good as I am,
[=l K=l
=
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11. Identifythefigureofspeechinthefollowing *  16. Change the following sentence into an

sentence: affirmative one:
To err is human, to forgive divine He is so weak that he cannot walk.
(A) Hyperbole [m];% ] (A) He is too weak to walk.
(B) Epigram “—% (B) He cannot walk because he is weak.
(C) Irony O (C) Walking is impossible for him for he

is weak.
(D) Weakness disableshim from walking.

(D) Antithesis

12. Fillin the blank withthe correct conjunction:

We carved not a line, we raised 17. The plural form of ‘Deer’ is =% =]
not a stone. (A) Doe ﬁ%

(A) and (B) Deer [x]

(B) but (C) Deers

{C) neither (D) Drakes

(D) or

18. Rewrite the following sentence in the
positive degree:
He is the heaviest of all the boys,

13. Give one word substitution for a person
who compiles dictionaries.

(A) Psephologist [=]% =] (A) Heis one of the heaviest boys.
(B) Lexicographer % - (B) No other boy is as heavy as him.
(C) Curator (C) He is one of the heavy boys.

(D) Cartographer (D) Heis heavier among the heavy boys.

14. Identify the participle in the following 19. Replace the underlined word with the

sentence: appropriate idiom from those given below:
Hearing the noise, the boy woke up. He has incurred debt. EEE
(A) Noise (A) runupto ’FL%
(B) Boy (B) run out of w55
(C) Hearing (C) mn through
(D) Woke (D) runinto

20. Replace the underlined verb with the
appropriate phrasal verb from those given below:

He must increase the production.

15. When he gets his degree, he will have been
studying at Oxford for four years.— Which tense
is this?

EKESOUARESORXDOR X EDIDLOODLLLPOT[TDOJDOLDOLOHTOO DO TR DN EDD DD R

(A) Future Continuous Tense (A) step into

{B) Future Perfect Tense (B) steep into

(C) Future Perfect Continuous Tense (C) stepup

(D) Present Perfect Continuous: Tense (D) steepup
_—_‘D;E. (<] Please Turn Over
[5]3:2%
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21. Identify the incorrect spelling. 26. Which of the following is not an Abstract

(A) Dissent Noun?

(B) Decent Eﬁ (A) Goodness

(C) Descent [w]5 B) Youth

(D) Discent (C) Poverty
(D) Parliament

22, Choose the correct sentence from the

options given below: 27. Rewrite the following sentence in the

(A) Nothing by chance happening ever comparative degree:
(B) Nothing ever happens by chance This book is the most interesting book I
. . have read.
(C) By chance nothing happening ever ) ] . .
(D) By chance ever nothing happens (A) Thisbookis moreinteresting than any
other book I have read.

(B) This book is very interesting.
(C) This book is superb.

23. Fill in the blank with the appropriate word: (D) This book is very much interesting

People get and don’t listen any than other books I have read.
more.
(A) bore
(B) board 28. Fill in the blank with the correct option:
(C) bored grain they had was damaged by
(D) boring sea-water. El%
(A) Alittle R
(B) Little [m] 5
24, Insert the correct word(s) in the blank: (C) The little
He stayed at home because he a (D) Solittle
cold.
(A) is having E E‘
(B) was had [w] 29, Identifythe figure of speechinthe following
(C) having sentence: United we stand — divided we fall.
(D) had (A) alliteration

(B) antithesis
(C) assonance
(D) pathetic fallacy

[=l{=[=]
30. The noun form of ‘Break’ is E-i .

25. Choose the correct option to complete the
sentence:

I rushed to the door when the doorbell

HEMDDHMRDS DR XDT SRR DSV OILDDIDSDITIELODDTO DL DO DA N DD NN TGN N DT kNN

(A) ring (A) Breaking
(B) ranged (B) Broken
(C) ringed (C) Broke
(D) rang (D) Breach
=] &[]
& 3
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31. A train 240 m long passed a pole in 24
seconds. How long will it take to pass a platform
650 m long?

(A) 65 sec.
(B) 89 sec.
(C) 100 sec.
(D) 150 sec.

32. In which year was the Olympic Symbol

designed?
(A) 1915 El"'
@) 1913 %;
(©) 1920
D) 1924

33, ‘Operation Flood’ is also popularly known
as

(A) The Green Revolution
(B) The White Revolution
(C) The Blue Revolution
(D) The Yellow Revolution

34. Ruma reads at an average rate of 30 pages
per hour while Neera reads at an average rate of 40
pages per hour. If Ruma starts reading a novel at
2:30 and Neera begins reading an identical copy of
the same book at 3:20, at what time will they be
reading the same page?

o o
(B) 5:50 m

(C) 6:40

D) 7:00

35. When did the Khilafat Movement take
place?
(A) 1942-1945
(B) 1919-1922
(C) 1911-1913
(D) 19056-1908

SLB/23-C-2189975/05

Q
tn

HREG G ERXDTDHXDERXXDIOLOLDDOLLDJROHSDSTOOODDEO0 D DN NS D NS S NS DN

2%

31, 240 filoE 9 wFH G 24 CTRCE G
(e Sfodw F | G 650 RoR o @3

BT ST TS TS 7 FHK?
(A) 65 GRS EI_E?E!
(B) 89 TS ﬂ-s_,"‘.%'
(C) 100 GicFS (=[5
(D) 150 FiTe

32. @A SFR s an sa gake
(A) 1915
(B) 1913
(C) 1920
(D) 1924

33, SR FIC -G F9F TN T
(A) fam arefeexm (w f2R)
(B) 2iZS @efHen (o4s [{eR)
(C) g caSfee= (R [a9)
(D) T ToEeH (T {2 )

34, ¥ 1 26w 30 B @ @R T| 1 76y
40 B +fB1 *eTS AICH | I T 2:30-9 97 BT
Al OF FE G 1 92 qFE THATIT 3:20-C9 T
F FH OTF IO T ORI TG 32, 931 AT ?

(A) 5:00
®) 5:50 E_EEE!
(©) 6:40 Elfﬁ%
D) 7:00

35. RAITS STHieH T A0S We
(A) 1942-1945
B) 1919-1922
(C) 1911-1913
(D) 1906-1908

Please Turn Over
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36. A person has to cover a distance of 6 km in
45 minutes. If he covers one-half of the distance in
two-thirds of the total time; to cover the remaining
distance in the remaining time, his speed must be

(A) 6km/hr
B) 8 km/hr
(C) 12 km/hr
(D) 15 km/hr

37. The HCF of two numbers is 13, If they are

%
)

36. 4= & 45 WHG 6 FefpE g s
FA© A | 57 G GIlS ST [2-PORKET Ty

S 7 Sow FA0S ©F 5ifSrast T g e
(A) 6 TR/ <6t :
(B) 8 R/ < %‘_J‘ﬁ
(©€) 12 3Ry 95 =]
(D) 15 Rf/ w6t

37. 96 TR AL, 13 TR STHE AT 5: 7 |

in the ratio of 5 : 7, then find the numbers. FRGWH e s @t
(A) 65,91 ] E! (A) 65,91
(B) 25,35 % ®) 25,35
(C) 35,49 (© 35,49
(D) 15,21 D) 15,21

38. ‘Ormithology’ is the study of
(A) Fish
(B) Birds
(C) Coins
(D) Ocean

39. Who won the Best FIFA Men’s Player

i
*1: |
[

Award 2024 (Football)?
(A) Lionel Messi
(B) Cristiano Ronaldo
(C) Pep Guardiola
(D) Kylian Mbappe

40, Which layer of the atmosphere prevents
ultraviolet rays from coming on the surface of the

earth?
(A) Stratosphere
(B) Troposphere
(C) Ionosphere
(D) Mesosphere

SLB/23-C-2189975/06

EEEDDHRKDO RS DR DLV DLBSLDTDLDONOLDDDO DI DM D NN DD N N D WKW

38. FIPTE WYREACE ‘Omithology’ Tt T2

(A) W17
(B) AR
(©)
(D) TR

39. 2024 A G e (o) AFR AFIRIT-
9 <7FE & e ?

(A) frerra &R

(B) f&rieaitn @mI=iat
(C) oot stiftaat

(D) RfEmm «sRivst

40, IRNEER FATT SR IR R

TS 4T (7 2
(a) B R
(B) GeetPema EIJ%
(C) SraFema
(D) GICFFRR

] & [a]
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41. The average of the largest and the smallest * 41, 0, 2 @R 4 To¥ Cold 3 oM 37 @

3 digit number formed by 0, 2 and 4 would be HFHoN MY 56 TJ
(A) 213 ] % [w] (A) 213
(B) 303 n’% (B) 303
©) 312 [ ©) 312
D) 222 (D) 222

42, What is the term for an artwork painted

42. I FRE AR S G Ml §

directly onto a wall? EE e
(A) Fresco (A) GFTE
®) Mural (B) T
(C) Graffiti
(D) Tapestry (©) et
(D) Treetfy

43. Which number gives the same result when

1

. 43, B @ RS %ﬁmmwaﬁa
added to 15 and when multiplied by 15 ?

A1 A 1% (IS ST TR AT 2T A ?

A) 1
®) 3 4) 1 Eg%
© 5 (B) 3 O
D) 7 © 5

@) 7

44, The International Union for Conservation

44. TR oI T TS T

of Nature (JUCN) has the headquarters at (0 (TUCN)~9 7 72 AR —
(A) Kenya E] A o
(B) Budapest ﬁ.’f;% ((B; .
(C) Switzerland [x] Tlc
(D) Rio-de Janeiro ©) ‘IQ@TFWE
D) Fe-f& @i

45. Write the missing number:

4,9,17,35, 7, 139 4,9,17, 35, 7, 139

45, SRS R et ¢ E]_I [=]
il

KRS DARAD DA XSO R R DOV ST ODOROCODOOTATITOROLOEREDE DO R ND D RN

((;3 gg (A) 63
B) 65
(D) 69 D) 69
E\-ﬁ Please Turn Over
s

SLB/23-C-2189975/07




L

46. Name the Indian athlete (Javelin thrower) *
who has won the gold medal in Paave Nurmi

SLB/23

Games, 2024.
(A) Abhinav Bindra
(B) P.V. Sindhu
(C) Neeraj Chopra
(D) Tajinder Pal Singh Toor

47, In which year the newspaper ‘Times of

India’ was first published?
(A) 1875
(B) 1858
(C) 1867
(D) 1862

48, Which city was recognized as the world’s

most sustainable city in 2024?
(A) Copenhagen
(B) Singapore
(C) Helsinki
(D) Reykjavik

49. A vendorloses theselling priceof 4 oranges

on selling 36 oranges. His loss percent is
A) 10%
B) 11%
© 125%
(D) None of the above

50. In which year India’s former President
Pranab Mukherjee received ‘Bharat Ratna’?

(A) 2018
(B) 2019
(©) 2021
(D) 2023

SLB/23-C-2189975/08

EIJE
TR
]

ik
*1: L}
(=]

C.8

46. @ e <ol (TekE Freawd

: SIEIEW) 2024 AN “ASt AN GHET G A5

]
A

ERMSG D RMSG A ADE R X DD SO DDOJORHLODBTDILDHROOEREDTO RO RS

S

(A) ofenq Rat
®) . % fg
(©) S Gieo!
(D) it i Big Ba

47. (IR AN “Times of India’ &%¥ &N o 20 ¢

(A) 18757
(B) 1858 HAiel
(C) 1867 A=
(D) 1862 I

48, G AT 2024 A Reds FoE GIg
(sustainable) =29 BFR F5e AR ohan)
(A) CItsiTLo :u_:l%

®) FmeE [
(C) =it
(D) ExEes

49, 3Tl 36 B TwEEy RidaE @ A

A T ©f 4T TR RewEy | o
A 2

(A) 10%

®) 11%

© 12%%

(D) S+t iR =

50, SIFTST e A e g ‘sigesy’

(A) 2018 AW n‘%
(B) 2019 7= [=]

(C) 2021 et

(D) 2023 AA



51. Whenisthe National Sports Day celebrated

in India? Eﬁ
:n: '}
=]

(A) August 21
(B) August 23
(C) August25

(D) August29

52, The profit earned after selling an article for

¥ 1,864 is the same asloss incurred after selling the
article for ¥ 1,490. What is the cost price of the
article?

(A) T1,677

®) 1,667

(C) T1,623

(D) ¥1,689

53. World Beneath His Feet is a biography of
whose personality?

(A) Pullela Gopichand
(B) Nawab Pataudi
(C) Ajit Wadekar

(D) Sachin Tendulkar

54. 60% of a number is equal to the i th of the
other number. What is the ratio between the first

number and the second number? E%

A)1:1
55. Aisthrice as good as B and thereforeis able

@B) 2:3
©) 3:5
to finish a work in 80 days less then B. Find the

D) 2:5

Q
)

WA R DD HWD DD D KN ae@oa@eaaaa%aae%aeaea@@eaaae#*@@ﬂm@@**%%***

EEE

SIS TWoW et e IR siifere e
(A) 210 9F5
B) 231 =598
(C) 250 o5
(D) 29¢< =56

52, <36 g 1864 B R @ @ fm e
T (1% R AR TR @ TR E 1,490 56w
Rier o | 7T T 79 ¢

(A) 1,677 51
®B) 1,667 it
(C) 1,623 5%t
(D) 1,689 Sict

53, World Beneath His Feet (FBISTEIENIA ?

(A) ?,[Cﬁﬁncﬁﬂﬁﬁ E%
% 2

(B) AR *iteifn
(©) it sHwTd

D) B FFerer

4, B Y 60% GAT I wmﬁ =
memameﬁ@ﬂwwwoﬂeam

(A) 1:1

@B) 2:3

©) 3:5

D) 2:5

55, A, B-qdq 3% FET G9 CR T A, B~F
RTF 80 T Hitst =l FE O FF | OF ST

number of days required to complete the work if SIS ToMe] 9y T ©f [T =l |
they are working together. (A) 20 E E.
(A) 20 days ®) 32 F E
(B) 32 days ©) 30
(C) 30 days
(D) 40 days (D) 40
EEEEIEI Please Turn Over
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56. I cuberootof 175616 is 56, then the value

of ¥175616 + 30175616 +3/0-000175616 is

56. IW 175616~ T 56 2T, ©@

3175616 + 30175616 +3/0-000175616

equal to E =i -9 —
®) 6216 Ul (B) 6.216
(©) 62:16 (C) 62.16
(D) 6116 D) 6.116
57. Which one of the following is the currency 57. ﬁﬁﬁﬁ@@@ﬁﬁm@qﬁ@ﬂﬁ@g@?
of Bulgaria? (A) Fe
(&) Len ®) ¥ CIRC
(B) Ruble %’%
(C) Leva © e
(D) Dollar (D) eeitg

58. {5 SICFH (FIA FEON WAL 12, 15 @k 18

exactly divisible by 12, 15 and 18 is it oy T2
(A) 10010 (A) 10010
(B) 10015 B) 10015
(C) 10020 (C) 10020
(D) 10080 (D) 10080

59, In a class of 40 students, -;— of the total

number of students like to eat rice only, % of the

total number of students like to eat chapatti only

*
*
*
]
&
#*
*
B
2
»*
*
]
4]
*
*
@
=
G
<4
&
]
€
o
&
o
@
-]
@

58, The least number of five digits which is ﬁ
'
]
|
|
G
=
8
£
G
o
D
]
G
»*
»*
]

and remaining students like to eat both. What ﬁ

*
]
B
*
»*
3
]
*
*
»*

. 59, <35 FIG1 40 T DRIE! SR | (G TR e

% weH] ©IS (4T, % et B (TS R AT e
OIS @ Fb BSHE (A0S e 0 | (VB DR aE O

B B 6 w6 YIBIR (40T ~Heh 2 ohdn
:'.-h +
Eu%

fraction of total students like to eat both? (A) %
1 [=]j=[=] '
o3 %%é ® 5
3 .
® 3 © %
© 2 D) St IR
(D) None of the above
[=17 =]
[S] ey
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60. T 75 B2 IR Bl W e Fouk
RifST S oIt FATET-9F @5 § II?

60. If two dice are thrown, how many different
possibilities are there that the addition of their

outcomes is 8? E{% (A) 5
A5 R ®) 6
®) 6 (=] © 10
© 10 (D) 4
D) 4

61, The 73rd Amendment of the Constitution 61. SRTSTREHIFT 73T AL g Aoe (b a

of India is related to which among the following? e e 7 E E’
(A) Townships (A) T %:%
(B) Panchayats
(C) Municipalities (B) NS
(D) District Boards (C) chaTe!
(D) o=t RIS

62. Two pipes can fill a tank in 20 and 24
minutes respectively and a waste pipe can empty
3 gallons per minute. All the three pipes working
together can fill the tankin 15 minutes. The capacity

62. 9B *ifReea Ty < Sirs A 20 R
8 24 R ©fS Tt T R e <A 1w
15473 3 shie &1 41 vt 7w | e 1 foa
*iizsl TE T O Bl ofF 2o 15 RS

of the tank is
(A) 60 gallons E E. =igst | BEDTe T e et 497
(B) 100 gallons ] A (A) 60 Bl
(C) 120 gallons (B) 100 siyisp
(D) 180 gallons (C) 120 sHE=
(D) 180 sil=l®

63. Which day is celebrated as a ‘World Blood 63. &foqmg T Tl T weqmsl freet’

XERDQARSGERAS D AN OO RQDOQDVDJ/UDOBOLDIDORDODOOTERDTDRXDDRRD T RREN

Donor Day’ every year? RO A (CRaIsH) T3 2

(A) 5th June St = Rl
(A) 53 Rl

(B) 14th June IEI

(C) 14thJul (B) 143%A

y

(D) 10th September (€) 142 %AR

(D) 10% GIT%ed

Please Turn Over
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64. Under the Free Movement Regime (FMR),
tribes living along the border can travel up to what

Q
B

64. & oG5 RN (FMR)-99 98w, RNTe
TRAFR Soaifeat oAt wolk o eeR ew

distance inside the other country without a visa? 5 Y o1efE T T A 2
(A) 5 kilometres EJ% @ s
(B) 8 kilometres L e
(C) 16 kilometres [=] (B) 8 Rt
(D) 20 kilometres (C) 16 F=loE
(D) 20 R=foE

65. A batsman makes a score of 84 runs in the
21st innings and thus increases his average by

65. T HHMI 21 OF DAL 84 T ST
i oI 58 A 2 AT O 21 O SR #itg o

2 runs. His average runs after 21st innings is NG AN I
(A) 24 (A) 24
(B) 34 (B) 34
(€) 44 © 4
(D) 54 D) 54

66. Which film won the Best Film Award at 66. SFT 20249 @FN vAtod (Gl GoieEd

Oscars 20247 w C’iGKQ?
(A) King Richard &) T Foié EJ%
(B) Oppenheimer - 4
(C) CODA @) <t ‘ =
(D) West Side Story (©) el
(D) ST AT FHifF
67. If the simple interest on ¥ 500 for 4 years is 67. T 500 B 4 T2EF IFA TR 10050
¥ 100, then what is the interest per annum? OIFE RS woq! TR YT FTO7?
(A) 10% ohdo (A) 10%
(B) 5% i . (B) 5%
©) 8% [x] (©) 8%
D) 6% D) 6%

68. A <3l g %wsﬁmmWB@

68. Acando % part of a work in 5 days and B
W%WﬁﬁmmnAeBWﬁ%W

can do % part of that work in 6 days. A and B

XEXDOGERXGOERDOEFDLLAJLHDODJUVS OO DT DREDO NS D N NDD R

together complete the work in 363 [m]y%[w]
(A) 3 days @A) 3fiw “—%
(B) 6days @) 6w (=]
(C) Sdays (C) 5T
(D) 4days (D) 4 FeA

EIEE
2
[=]4:2%
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69. IFlE Wiel RTE FH TwiRE W @2
(A) w8 R Qoigg

69. ‘Asol Aap’ is a popular canoe race from
(A) Andaman & Nicobar Islands

B) Chhz-tttisgarh [w] E. (B) s
(C) Manipur i © o
(D) Himachal Pradesh ] ) j J—

70. A started business with ¥ 30,000 and after

4 months, B joins with A as his partner. After a

" year, the profit is divided in the ratio 2 : 3. What is
B’s contribution in the capital?

70. A, 30,000 BiF Figw Ny @ TN %
A IR OF 4 I AR B, A~ Y €3 AN
TE T | IR 1A 2 : 3 TAS Ol e Sisf
oIl = 1 6% W B-a3 e e 3w

—
(C) 67,000 (B) 65,000 Bil %

| D) 367,500 (C) 67,000 %

! (D) 67,500 Bt

l 71. The definition of unit force is obtained 71, O *feeg Hes AeT O

from
(A) 2o s e
(A) 1stLaw of Motion
(B) 2nd Law of Motion ®) Bk e i
n (C) 3rd Law of Motion (©) voiF Aforg R
}l (D) None of the above (D) Tt AR
72. Find the sum: 72, Gavere B oo o

'11111111 “11111111

R R R-R:E R X-R-R % X-F:R X W-E-B:R-R- R R RN R R R N RN R R

sttt tmtmteastss & 020 ottt — b —
276 27030 2 5% 72 PR VAR R R TR 7
1.1 1 1.1 1
bt — b
% 110 ' 132 E-% *50* 110 T 132 E (=]
7 = 7 [=]
A 3 @ 3
11 1
® 3 ® 5
15 15
© © =
17 17
®) 15 ©) 13
E:._ [=] Please Turn Over
EIE%
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73. Who is the famous personality known
for their role in the anti-apartheid movement in
South Africa?

(A) Nelson Mandela

(B) Morgan Freeman
(C) Drake

(D) John F Kennedy

SLB/23

74. Vasco Da Gama found out a new route to

7
[

India and in 1498 reached
(A) Pulicat
(B) Karaikal
(C) Goa
(D) Calicut

75, The first Muslim President of the INC was
(A) Abul Kalam Azad
(B) Rafi Ahmad Kidwai
(C) Hakim Ajmal Khan
(D) Badruddin Tyabji

76. Last week, 8,000 copies of a certain
magazine were sold. This week, 7% more copies
were sold. How many copies of the magazine were
sold this week? E%

(A) 8,650 kR
(B) 8,560 =]
(C) 7,600

(D) 8,500

77. The ratio of 2 man’s age and his son’s age
is 7 : 3 and the product of their ages is 756. The
ratio of their ages after 6 years will be

(A) 5:2
@) 2:1
(©) 11:7
®) 13:9

SLB/23-C-2189975/14
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73. e SR Ifam RER Swwee sio™
i T Rdre gfeg @2
(A) PR T E_FE!
B) @9t Ui
© =¥
(D) & GF (TG

74. ©ICE Wt S S0 G TP AL I @
T €] 1498 A CcafRmE——
(A) B
(B) FAIE
(©) it
(D) B

75. INC-aF &% e Fig«ife fem
(A) S FHEA SARH
(B) i ogEw Freag
(C) w wEnE W=
D) I CoNTIG

76, sts T «FH WalEmg 8000 w5 R[fes

20| % AR 7% QR 0 R 2w R Atz T
iot et e e

(A) 8,650
(B) 8,560
(© 7,600
(D) 8,500

77, 9% e € O a8 TWET GAS 7 : 3 9
SIta RO BT 7561 6 T2 LA O O
SATS T

@ 52 EI%
B) 2:1 E

©) 11:7

(D) 13:9
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78. What is the proposed new name for the : 78. G (ST (IS (PC)-4% ARRTS ©Ered
legal code for India, replacing the Indian Penal * 3 @Iey aue g I [De

Code (IPC)? ] &
(A) Bharatiya Nyaya Sanhita (A) BiFoE T KRS

&

(B) Indian Nyaya Sanhita (B) 2feai o et
(C) Nava Bharat Sanhita (C) TeiFe e

(D) Bharat Penal Code D) wiFge i (FlE

79. ‘Pampas’ are extensive grasslands found in

79. AT, fige gl @i stea am—

(A) North America (A) Teq SRS E—l E
(B) South America (B) Wl St L b i
(C) Africa o ]
(D) Asia ©

D) <=

80. Which day is observed as ‘World AIDS 80, @ b ‘Rt aew e Row e

Day’? a1 B3
(A) December 4 E:-I% = ?( A) 4Tewma
(B) December 10 =] B) 10R
(C) December 14 )
(D) December 1 (©) 14T
D) 1Ter=e

81. The speed of a boat in still water is
15 km/hr and the rate of the current is 3 km/hr.

81. B9 = @3 e sferast 15 /e
G GIreT sifSrae 3 Bh/es e 12 ffG

EEXOTOR XL O XXX DTESLODETITIDDJTIOODBDDZLHLDDDODODRRKGDREDTDRE

The distance travelled downstream in 12 minutes
. FITST G P [H% WoGs FAE? :'E]i_!‘F..E.
A) 12kn (A) 12 Fr=ifeE E%
(B) 1.8 km ®) 1-8 Rr=AfibE
(C) 2-4 km (C) 2-4 Rl
(D) 36 km D) 3-6 Fefio™
E hj E Please Turn Over

E'é
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82, Arun could save 10% of his income. But * 82, S Ol WEA 10% FLT AT | 9F q29
1 yearlater, when his income increased by 20%, he : +td ©fF WY 20% IS g BF 9{5{3 T G,

could save the same amount only as before. By & SAfFa B Aew TE | ©ig J49me iﬁﬁ =4 fady
how much percentage has his expenditure g =@l

increased? |
(A) 22%% E.% A) '22%%
(B) ‘23%% B ®) .23%%
© .24%% © -24%%
®) 'zs%% ® 252%

*®
*
3
G
*
»*
&
€
»*
*
&
-]
|+
o
B
3
€3
j +]
2
G
]
23
B
]
+
<]
@3
Q
=]
3
3
]
&
=]
=]
2
@
-]
»*
*
&
€
»*
*
@
&
»*
»*
€
@
»*
*
»*

83. A boy's height is 133 cm at the end of a
year. His height increased by 6-4% during the

year. Find his height at the beginning of the year. WS O Twel T© e 2
(A) 125¢cm @A) 125 iR
(B) 120cm (B) 120 G
(©) 110cm (C) 110 G
(D) 118cm (D) 118 @i

84. Baris a unit of OhdC! 84. FinkRe @abe g 2= 197
(A) Force fﬂ.J% (A) =1
(B) Power E (B) el
(C) Work
(D) Pressure © e
@) B

85. Loktak Lake is the Jargest fresh water lake

in which of the following region of the country? T (i 9 SRYe ?
(A) North-Eastern A) Tes- ’HI
(B) South-Western
(C) North-Western (B) wiaet-sifest
(D) South-Eastern (C) Tea-siffsx
®) ol
[=] R x]

[=]
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=

85, ST AGE 09 MR S T ERE
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86. The speed of a train is 80 km/hr. If it takes * 86, a3 G <SSt 80 B/ <011 T
4-5 seconds to cross a tree, how much time it takes NF AT FAO 4-5 CES AN 05 OIgE]
to cross a 200 meter length station? 3l 200 Fibi T3t GBI Sfeery ware Gt T

(A) 135 sec. ST AN ? EI_EE'E
1 ®) 13 sec. (A4) 135 GTTS et
(C) 12 sec. ®) 13 CTFS =] 55
D) 12-5 sec. (©) 12 GitTe
D) 125 GRS

87. Who was the Governor General of India 87. 1857 AiF SRRENEE FW ST Ie-q

during the revolt of 18577 e & rEm?
(A) Lord Dalhc.)usie E E, (A) 6 CeRR
(B) Lord Canning =] (B) =16 TR
(C) Lord Lytton i ;
(D) Lord Ripon © s
(D) =16 R

‘88. Whenwas the Tenancy Actpassedin Bengal? 88. (T AT ABIAG SB 2 T2

(A) 1885 (A) 1885
(B) 1878 (B) 1878
({C) 1928 (C) 1928
} (D) 1868 (D) 1868
F
| 89. Who is the founder of Facebook? 89. TR ARl &2 0
(A) Steve Jobs (A) 5% wam Sy
(B) Mark Zuckerberg B) & Tl E e 2
(C) Larry Page
; (©) = oofaw
Bill G
(D) ates D) et e

90, Which of the following rivers is the Ukai 90. Hd @ Anw GoAY Tig Fub wrfEee

ARG ARG A KD E R DTIDODLIDODLJIODOSLDEQOREDJRDDD KT HEDT DR DD RN

dam situ;teci\?crossj E E' (A) T
(A) armada " @B) wifd
(B) Tapti BCE
(C) Mahanadi ©
(D) Krishna D) T
E& =] Please Turn Over
=l
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91. The ‘Blue Economy’ concept is primarily * 91. 4 A aRe’ AReE e
related to . E] E : %
(A) Agriculture s © ) 7
{B) Ocean resources E
(C) Sky-based industries (B) TPt 721
(D) Digital technology (C) =i fis
(D) TefmyE agfe

92, Which of the following waves has the

highest frequency?
(A) Radio
{B) Infrared
(C) Microwaves
(D) Gamma-rays

93. The Hindon River is a tributary of which

EIEEI
u L)
CIia

river?
(A) Ganges
(B) Yamuna
(C) Narmada
(D) Tapti

94. Bysellingabicycle for¥ 2,050, ashopkeeper
gains 25%. If the profit is reduced to 10% then the

selling price will be
(A) T 1,600
B) T 1,804
(C) T 1,805
(D) T 1,800

SLB/23-C-2189975/18

wAq1

HEBSSEKXDERXSE XX DI LD/DIDLOSDLDD[ODHDODLDIREDOTRETETRED

%‘%E

92, AHA @ SAHA TIF THOE @M?

(A) e

B) TEES
(©) wiETers
D) stEn-=f

A
h-. | ]
=]

93. R 77l I AMiF SRl 2

(A) =t
®) T
(C) ft
(D) ©ff&

94, GFE RFWE GFH ARARE 2,050
B RiF T 25% e a1 T DI TM3-
Hferres R s o wited «AfFwe ™ 10%

(A) 1,600 Bi=t

(®) 1,804 it =l EL=]
(C) 1,805 Bt %

D) 1,800




reaches Burdwan at 12 noon. Another traip leaves
Burdwan at9 a.m. and reaches Howrah at 12 noon.

When do they meet?

(A) 17-,1? mins past 9 a.m.
(B) 17-,17 mins past 11 a.m.

© 17% mins past 10 a.m.
®) 10am.

96. Which of the following is the first beach in

Asia to get Blue-Flag Certification?
(A) Arambol Beach, Goa
(B) Chandrabhaga Beach, Odisha
(C) Marina Beach, Tamil Nadu
(D) None of the above

97. ‘Batukamma’ is the State festival of which

state?
(A) Tamil Nadu [m] ]
(B) Telangana 25
(C) Assam EI
(D) Gujarat

98. What is the capital of the United States?

(A) New York

(B) Boston

(C) London

(D) Washington, D.C.

SLB/23-C-2189975/19
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95. A train starts from Howrah at 8 am. and * 95, 3 G A<l 8 BT QS0 (A TqQ 9F T

WA 12 018 S (et 1St 3o G St 751
TR (ATE T & IE YAF 12 B genta chgw |
9 ot fiifere za e

(A) 0 951 17% RFG EJ%
(B) ST 115t 17% ars D

(C) =it 105t 17% e
(D) = 10 B

96. A @FF FHCESH AT 2T g’
Pzttt cotre
(A) SEEE GiFS, (it
(B) vEell G, Wt
(C) =l s, Sifiierg
(D) SoET @IDhE

97. TLIM’ P AT B B2
() ofi=Ae
(B) Cotrl
(C) =P
(D) erElo

98, IR TEAERT AT B E.%%
(A) Fed [m] 2%
(B) @FBT
(C) ==
(D) eTEH, B

E\;ﬁ Please Turn Over
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99, Nathu La Pass is situated in which of the : 99, izE AR ARERS @i Aforfite /e ?
following rang.es? EISE] * (A) Fm ot
(A) Vindhyas ks © (B) FRICH [=] ==l
(B) Karakoram O ji o F. X %
(C) Western Ghats * ©
(D) Himalayas o (D) R
]
*
*
]
]
*
#*

100. A sum of money is divided among 160 # 100, g «fFwt St 160 o= <77 € FEFA
mal-eS. and some females in the ratio 16 : 21. z RS WG 16 : 21 SHHATS ©lot 91 61| 4F T
Individually each male gets T 4 and a female ¥ 3. o 25 77 4 B w0 W= &S W= 3 b T
The number of females is EEE @ A | TR AL FO %@ EE

_ (A) 198 :,ﬁ% z (A) 198 LR
B) 270 ] 52 T ®) 270 ]
(C) 280 ] (C) 280

284 g
D) b4 (D) 284
-
]
]
_—eys
&
]
e
-1
]
o
]
]
-4
&
3
]
-
*
*
3
]
»*
»*
]
3
*
*
3
]
»*
*
»*
[=] % [=]
(51823
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Answer all the questions,

Questions are of equal value.
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Candidates should read the following instructions carefully before answering the questions:

. This booklet consists of 24 pages including this front page, containing 100 questions. Verify the
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. Answers will have to be given in the OMR Sheet supplied for the purpose.
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you have to fill in some particulars in the OMR Sheet. Do not fold the OMR Sheet as this will
result in error in your marks.
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(C) and (D) against each question. Find out which of the four answers appears to be correct or
the best. Now darken the circle corresponding to the letter of the selected answer in the
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One and only one circle is to be fully blackened for answer. Any spot in any other circle (multiple
circle) or in wrong circle will be considered as wrong answer. If more circle is encolded for a
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. There will be negative marking for wrong answers. 0.25 mark for each wrong answer.
. There are blank pages at the end of this Booklet for Rough Work.

. The OMR Sheet & Test Booklet should be handed over to the Invigilator before leaving the
Examination Hall. You are not allowed to take away the used Test Booklet after completion
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1. Identify the participle in the following
sentence:

Hearing the noise, the boy woke up.

SLB/23

(A) Noise FRE
(B) Boy Ao
(C) Hearing [=]3
(D) Woke

2. When he gets his degree, he will have been
studying at Oxford for four years.— Which tense
is this?

(A) Future Continuous Tense

(B) Future Perfect Tense

{C) Future Perfect Continucus Tense
{D) Present Perfect Continuous Tense

3. Fill in the blank with the appropriate
preposition from those given below:

He left his phone the bed.
(A) at
(B) in
(C) on
D) to

4. Choose the correct option to complete the
sentence:

I rushed to the door when the doorbell

(A) ring

®) ranged Clfei 0
(©) ringed ;
(D) rang =1

5. Choosethecorrectsentence fromthe options
given below:

‘?
o

XSO RRXSGDERADTOERXR OO OGOORDHOLDDOBODOOTOHOONMGE ENT S NG DR R

6. Change the voice:
The gate was opened by the peon.
(A) The open gate let the peon in.
(B) The gate opened to let the peon in.
(C) The peon opened the gate.
(D) The peon opened the closed gate,

7. Replace the underlined verb with the
appropriate phrasal verb from those given below:
He must jncrease the production.

(A) stepinto Of:0)|
(B) steep into . !
(C) stepup [=]3
(D) steep up

8. The plural form of ‘Deer’ is
(A) Doe
(B) Deer
{C) Deers
{D) Drakes

9, Insert the correct word(s) in the blank:

He stayed at home because he a

cold.
(A) ishaving
(B) was had
(C) having
(D) had

10. Replace the underlined word with the
appropriate idiom from those given below:

He has incurred debt. E E
(A) Nothing by chance happening ever (A) runup to . 1
(B) Nothing ever happens by chance (B) run out of [=]3
(C) By chance nothing happening ever (C) run through
(D) By chance ever nothing happens (D) runinto
[=1 % [=]
EI ol

SLB/23-D-2189976/02
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11. The umbrella which has a broken handleis *  16. Identifythefigure of speechin the following
mine. sentence:

What clause is this? To err is human, to forgive divine

| (A) Adverb Clause (A) Hyperbole E-.H_E
(B) Epigram E—E&

(B) Adjective Clause
(C) Irony

(C) Noun Clause
(D) None of the above (D) Antithesis

17, Change the following sentence into an
affirmative one:

He is so weak that he cannot walk.

12, Fill in the blank with the correct option:
____ grain they had was damaged by

sea-water. .
(A) Alittle EI' !m (A) He is too weak to walk.
(B) Little : ! (B) He cannot walk because he is weak.
(C) The little E]E-.‘.:- (C) Walking is impossible for him for he
is weak.
(D) Solittle IS We

(D) Weakness disables him from walking.

13. Fillinthe blank withthe correctconjunction: 18. Rewrite the following sentence in the

We carved not a line, we raised comparative degree:

not a stone. This book is the most interesting book I
(A) and have read.
(B) but (A) Thisbookismoreinteresting than any
(C) neither other book I have read.
D) or (B) This book is very interesting.

(C) This book is superb.
(D) This book is very much interesting
14, Rewrite the following sentence in the than other books I have read.
positive degree:
He is the heaviest of all the boys.
(A) He is one of the heaviest boys.

(B) No other boy is as heavy as him,

19, Which of the following is not an Abstract

Noun? E- 4 E

' (A) Goodness o ;
‘ (C) He is one c.)f the heavy boys. (B) Youth [m] 35
(D) He is heavier among the heavy boys. (C) Poverty
(D) Parliament

15. Choose the correct option to complete the

sentence: 20. Choose the correct pair of antonyms from
I have been at the painting. the pairs given below:
(A) looking E- 1 E (A) defriend-unfriend
(B) looked . 1 (B) borrow-lend
(C) look O (C) help-aid
(D) looks (D) cajole-coax

AXREXDSHREXDO A XDORX QOO DOOROVEVETHOLOBRSLODDTUIR KOO R ETO ARG T RN
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21. The noun form of ‘Break’ is E E

(A) Breaking

(B) Broken [=]3:
(C) Broke

(D) Breach

22. Identify the incorrect spelling.
(A) Dissent
(B) Decent
{C) Descent
(D} Discent

23. Identify the figure of speechin the following

sentence; United we stand — divided we fall.
(A) alliteration
(B) antithesis
(C) assonance
(D) pathetic fallacy

24, Give one word substitution for a person

who compiles dictionaries.

(A) Psephologist E E

(B) Lexicographer [=]3
(C) Curator
(D) Cartographer

25, Change the following sentence into a

Negative one:
Heis as good as T am.
(A) Iam not better than he is.
(B) He is better than me.
(C) I am better than him.
(D) BEeis not as good as I am.

SLB/23-D-21898976/04
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26.

27.

28.

29.

30.

more.

EXRDOERXDTOEH KGO E X D08 LDVL0HDLBBBVNTR2000TO D REDTHRKGTDEND D E KN

=]
=
=]

&

It was expected by the Romans that they

would conquer Carthage.

The Active Voice of the above sentence

will be;

(A) The Romans expected to conquer
Carthage.

(B) It was expected that Carthage would
be conquered by the Romans.

(C) Carthage, the Romans [w]i[w]
expected, was to be! X
conquered. ]z

(D) Carthage was expecting to be
conquered by the Romans.

Turn the following sentence into aquestion:
He was a villain to do such a deed.
(A) How was he a villian to do such a
deed?
(B) Whydidhedosuchavillainousdeed?
(C) Washenotavillaintodosuchadeed?
(D) What made him do such a villainous
deed?

Replace the underlined portion with an

idiom from the list below:

He will never be able to do anything

remarkable.

(A) Heap coals of fire upon his head
(B) Set the Thames on fire

(C) Let the grass grow under his feet
(D) Put the screw on

Have you read Gulliver’s Travels?

The sentence is an example of a0
(A) Present Perfect Tense ", '
(B) Present Continuous Tense E]_'p_;.
(C) Simple Present Tense
(D) Present Perfect Continuous Tense

Fill in the blank with the appropriate word:
People get and don’t listen any

(A) bore

(B) board
(C) bored
(D) boring
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31. ‘Pampas’ areextensive grassiands foundin

31, ‘oo, fRge el I Atewt a—

(A) North America E E.I (A) Teg SifE
(B) South America % (B) Wit sl
(C) Africa x5 @
(D) Asia ©

D) «rat

32. Which layer of the atmosphere prevents 32, VT A TS SR IR <A

ultraviolet rays from coming on the surface of the WS T4 (T ® ERE
earth? @@W . T
(A) Stratosphere &) i w3
(B) Troposphere (B) G
(C) Ionosphere (©) ST
(D) Mesosphere (D) FPERE

33, A train starts from Howrah at 8 a.m. and
reaches Burdwan at 12 noon. Another train leaves
Burdwan at9 a.m. andreaches Howrah at 12 noon.
When do they meet? &

E-

33, <3 G AT 8 DG (ACF Tl OF FH
T 12 51 NI TR | 119 b (G 9160eT 751
I (A TG OF FE DT 12519 Qeuiy (|
4 ol ffers a1

(A) e 9 B 17%&1%%‘

(A) 17% mins past 9 a.m.

1

®) _17; mins past 11 a.m. (B) F&iE 1151 17% e

© 17% mins past 10 a.m.

(©) 7= 105 171 Rfe
(D) 10 am. 7

(D) & 10 B

34. The 73rd Amendment of the Constitution 34, SRS NRHIEE 7359 Nga NpA ERbE

XKD RRDDRARS I AX DSV HVBVDLDDQORVBOTODOLBOERRDTERRD T RRG T RE

of India is related to which among the following? R e ? E' E
(A) Townships (A) T L |
(B) Panchayats ®) i
(C) Maunicipalities ) RIS
(D) District Boards (© chsre
(D) &= @S
E E Please Tuarn Over
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35. Acando % part of a work in 5 days and B

v
&

3s. AWW%WSWW@RB@Q

can do % part of that work in 6 days. A and B ¢ <SR % el 6 AT | A € B AP T4

together complete the work in Fd ¢
(A) 3 days A) 3w EI El
(B) 6 days ®) 6 T Ok
(C) 5 days © 5F=
(D) 4 days (D) 4 Fw

36. The International Union for Conservation

36. TORMAE VFIA T SIS0 GF

of Nature (IUCN) has the headquarters at BT (TUCN)-431 577 7R TG
(A) Kenya W] @ . AECZ—
®B) Budapest * 1 G‘Fﬁﬂl
(C) Switzerland [=]3 (B) JARAFE
(D) Rio-de Janeiro (C) “R=ienie
D) Fref @R

37. The first Muslim President of the INC was
(A) Abul Kalam Azad
(B) Rafi Ahmad Kidwai
(C) Hakim Ajmal Khan
(D) Badruddin Tyabji

37, INC-9% &3 i AgAf frem
(A) SRE D &R
@) A vz Rvenig
(©) R = 4
(D) TFME (oT&

38. Loktak Lake is the largest fresh water lake 38, SR FREE 0% AR T g @IS

in which of the following region of the country? TG (v R ST ? o1
(A) North-Eastern (A) %@?—‘{{ E E,
(B) South-Western ®) Wre-sifeow 3
(C) North-Western
(D) South-Eastern (C) Tam-=ifiow
(D) wiRtef

39. World Beneath His Feet is a biography of 39. World Beneath His Feet G GTGAEIRA 2

whose personality? aldol (A) =l CONABW
(A) Pullela Gopichand - . ST
(B) Nawab Pataudi =] ®) T N
(C) Ajit Wadekar © W;' '
(D) Sachin Tendulkar ®) B+ '

HXEGTUMRSTEHRDOAX DJOLOBDLVZOLPBLTODOLDORODDOGREDT DR DR D W

20
APt
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40. Under the Free Movement Regime (FMR), * 40, & Yo% @R (FMR)-9 S8, Jwite

o *
tribes Living along ‘b‘:‘;""d"’f can tra}'r;l up to \_vhf;t ¥ FRESE Souifent o weRk ww e e
distance inside the other country without a visa? o WWWWWW?

(A) 5 kilometres .

) (A) 5 RefitE E]E%E]

(B) 8 kilometres e oo L

(C) 16 kilometres ®) 8 R Ei&
(D) 20 kilometres (C) 16 R=nifvm
(D) 20 Fe=AlHE

41. Thedefinition of unit force is obtained from 41. T «feg Foet Ay I

(A) 1st Law of Motion . (A) 2o oifS7a (U
(B) 2nd Law of Motion = ‘E! (®) s v
(C) 3rd Law of Motion 5 R

(D) None of the above [e]5 (C) PO offeepe e

D) Coitsa IR 7

42, Arun could save 10% of his income. But 42. IF O] HEd 10% AL @4 | 99 989

1 year later, when his income increased by 20%, he AT ©IF | 20% IS g R o7 T 993
could save the same amount only as before. By AR Bl Heew 0 | O X069 {7 e
how much percentage has his expenditure @l |
increased? ' [&] 2]
2 @A) 222% =iy
‘ = 2
, ® 25 o Gt
1 ®) 233% ®) 235%
2
©) 24%% © 2A435%
| - 2
r ®) 252% @) 255%

43, The least number of five digits which is
exactly divisible by 12, 15 and 18 is

AKAXDZDREDTORA KD AKX DIDOOSOVOVARDELIRDORDVDDTDDERKDOEXDD ARG

43, 6 EEd (H Faod WYl 12, 15 ¢ 18
wRl oty o1

% (A) 10010 E‘{ E] (A) 10010
| (B) 10015 [w]3 (B) 10015
| (C) 10020 (C) 10020
D) 10080 (D) 10080
F E Please Turn Over
[=1
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44. When did the Khilafat Movement take
place? .
(A) 1942-1945 E E:
(B) 1919-1922 E[-
(C) 1911-1913
(D) 1906-1908

‘45, Which day is observed as ‘World AIDS
Day’?
(A) December 4
(B) December 10
(C) December 14
(D) December 1

46. The ratio of a man’s age and his son’s age
is 7 : 3 and the product of their ages is 756. The
ratio of their ages after 6 years will be

(A) 5:2
®) 2:1
(©) 11:7
(D) 13:9

47. Who won the Best FIFA Men’s Player
Award 2024 (Football)?

(A) Lionel Messi

(B) Cristiano Ronaldo
(C) Pep Guardiola
(D) Kylian Mbappe

48. A train 240 m long passed a pole in 24
seconds. How long will it take to pass a platform

650 m long? [Pl
(A) 65 sec. : !
(B) 89 sec. =3
(C) 100 sec.
(D) 150 sec.

SLB/23-D-2189976/08

v
&

ARG ER DD RFSO R X DO ER2OQRGU DD DDO DT DD DN MDD NN DD NN D MW

44, =T A FIH A0S W2
(A) 1942-1945
(B) 1919-1922
(C) 1911-1913
(D) 1906-1508

45, o frafoes R 2o e’ R siew
TN

(A) 4 R=g E] E!
®) 10 e [=]z
©) 14 Rwma

D) 1o

46, 3 S ST #{LIH JHCEH TATS 71 3 9R
ST T BT 756 | 6 IR #I OME WER
A E

(A) 5:2
@) 2:1
(O 11:7
D) 13:9

47, 2024 A G 7w (FHI) 579 QEEE-

GF T (3 o ?
(A) Fratwer il [ ¢ [l
@B) fFRTE @WEm =5
(C) oot aiffaat
(D) RfFmEm a=is

48. 240 FBiE o4 @I G7 24 GRS B
AT SfeTs FE| G 650 FoE o9 9ol
AHFT Sy TI0e Fo T (9P

(A) 65 TS
(B) 89 s
(C) 100 Gii5®
(D) 150 G
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49. ‘Operation Flood’ is also popularly known
as E [
(A) The Green Revolution . '
(B) The White Revolution EI‘
(C) The Blue Revolution
(D) The Yellow Revolution

50. If two dice are thrown, how many different
possibilities are there that the addition of their
outcomes is 87

(A) 5
B) 6
(©) 10
D) 4

51. The ‘Blue Economy’ concept is primarily

related to
) Oueamresotes @ ¥
(C) Sky-based industries (B) TR H=lw
(D) Digital technology (€) wierfefes M
(D) R e

»*
»*
#*
B
&5
#*
*
B
=]
¥*
*
@
]
>
*
@
)
&
]
]
o
i
o
@
o
%
]
€
@
)
%
)
]
]
o
]
B
B
52, Ifthe simple interest on ¥ 500 for 4 years is z
o

¥ 100, then what is the interest per annum? e AHES o HE Y FO L .
(A) 10% (A) 10% E’ E.
B) 5% B) 5% E-
) 8% © 8%
(D) 6% D) 6%

53. “Asol Aap’ is a popular canoe race from
{A) Andaman & Nicobar Islands

{B) Chhattisgarh E' E
(C) Manipur xc%
(D) Himachal Pradesh [=]3
K=l

o
e

B
2
*
*
&
&
*
*
£
&
»*
*
B
7]
»*
»*
»*
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fea Soliw oltia Toea-«g Qsiwe 8 TE?

49, GATITN FIC'-GF GG TN 2
A) Tam cefeR (g [eR)
(B) @RS FefFeH (oo R23)
(C) g ke (= [2)
(D) A EefEe (2w R2])

50. % 4% ©iRs G BT W ORE T

35 [ [
®B) 6 y .
© 10 [=]3
®) 4

51, g TRl et A I A

52. aff 500 11T 4 IFF T M LR 100 B

53, SFE S FREE G0 SIS W G T

(A) SR 8 RERE fioisa
(B) wfesig
(C) TRz
(D) TRoeeT aon
Please Turn Over
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54, Who is the famous personality known
for their role in the anti-apartheid movement in
South Africa?

(A) Nelson Mandela m E!
(B) Morgan Freeman E-
(C) Drake

(D) John F Kennedy

55. If cube root of 175616 is 56, then the value

of 175616 + /0175616 +/0-000175616 is

equal to
(A) 0168
(B) 6216
(© 62-16
(D) 6-116

56. What is the term for an artwork painted
directly onto a wall?

(A) Fresco
(B) Mural
(O) Graffii
(D) Tapestry

57. Nathu La Pass is situated in which of the
following ranges?
(A) Vindhyas
(B) Karakoram
(C) Western Ghats
(D) Himalayas

58. Who was the Governor General of India
during the revolt of 18577

3 ¥

HEXD DXL XSG ER K OJHJSOHOODHL SV IO RNTH DD DD H

D-10

54. vie! e e R e o
i &G e Ifes e
(A) P icea
(B) i i
C) &
(D) & IF FM -

55. g 17561697 TN 56 TF, ©&

175616 + 30175616 + 30000175616

8 WA— .
(A) 0.168 (] E!
B) 6216 E
(©) 62.16 o
D) 6.116

56, < AT TR S Gl Meeie 9
[N ?
A) e
(B) e
(C) difefe
D) Tireatfy

57. A AR REERS @ AN o[Ee

(A) Ry sifewiE [&]; 'E!
(B) SR o

(C) #fowwis

(D) R

58. 1857 A YRRUHIRA T ©|red sfoeq
CERICEE & T

(A) 5:: Iéalhc_msic [ E] (A) =T CEE
(B) Lord Canning Ok (B) =16 WK
(C) Lord Lytton =16 TG
(D) Lord Ripon ©
(D) M6 ol
=] % [x]
[=]%
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59, 5C AAE GF0 IRT 8000 < [
= | % DR 7% QR %P R 56 @3 A T

59. Last week, 8,000 copies of a certain
magazine were sold. This week, 7% more copies

were sold. How many copies of the magazine were et Meifem [ie =
| sold this week? =] - =] (A) 8,650
(A) 8,650 . . (B) 8,560
(B) 8,560 [=13 (C) 7,600
(C) 7,600 D) 8,500
(D) 8,500

60. The speed of a boat in still water is
15 km/hr and the rate of the currerit is 3 km/hr.

60. 23 w o3 P sffeeael 15 Refy/aebt
a3, Fined ifrast 3 BTli/abt et 12 RRG

| The distance travelled downstream in 12 minutes TSR S 6 GG o] FHL?
s R
‘ (A) 1-2km @) 12 ' (] 24 ]
L B) 18 km (B) 1-8 R=tifsiom o ;
‘ © 241m (C) 24 ReriEista [

(D) 3-6km D) 3-6 FeE=ifRE

61. Avendorlosestheselling price of4 oranges
on selling 36 oranges. His loss percent is

61. - 95 rwel 36 b FeeeE e o @ Al
ER FE o 4% TweERE Remps ) oF

(A) 10% ofiD FIRAI 9
B) 1% : X (A) 10%
© 12%% Ik ®) 11%
(D) None of the above © 12%%
M) B+ @A =
. 62. A started business with ¥ 30,000 and after 62. A, 30,000 B! e e ol e o

' 4 months, B joins with A as his partner. After a
year, the profit is divided in the ratio 2 : 3, What is
B’s contribution in the capital?
(A) T65,700

P G OIF 4 W A B, A7 R € AT
T & | PIRA I 2 2 3 SIS IR A St
91 T | 6% I B3 e e <zt |

EEXTORADOERXSO XX DGO/ LLODIDDDDDRDHOADDDTDOOD O DN WD D NN DD WD D RN

B) 765,000 (A) 65,700 Biss El fi]

(C) T 67,000 (B) 65,000 Gl i :

(D) ¥ 67,500 (C) 67,000 B ¥
(D) 67,500 B

Please Turn Over

g
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63. Which city was recognized as the world’s

¥
3

63. (I &L 2024 At ode Row G R,

most sustainable city in 20247 e (sustainable) 1% TR S Tl
(A) Copenhagen O < oo (A) GITFTER ,
(B) Singapore [=]3 @) Pt o E E!
(C) Helsinki i EI_
(D) Reykjavik © == g%
(D) FEHfT

64. Which of the following rivers is the Ukai
dam situated across?

64. N5A I Tw To Tl Jufd wafgw?

(A) Narmada (‘(;; :ﬂ%
(B) Tapti

(C) Mahanadi (©) Ry
(D) Krishna D) =

65. Which film won the Best Film Award at
Oscars 20247

65, SFF 2024~ (FW HHE G1E HEmEd

N . TR (TR
‘{33 ﬁg thc?ard i) A) i fors
pennermer n
(C) CODA =] (B) ‘erelgiaana
(D) West Side Story C) et
(D) ST 7RRE FBIfF

HEKDORRDOAXDOHRXR DIV GR/ODOOOSDIOODSODOO DD BN NN DS NN NN

66. Find the sum: 66, = By s o
r,11 1. 1.1 1.1 '11111111
25 R T T 28 R PR ARV TR TR TR )
+L+L+L 1.1 1
90 110 ' 132 "50 110 T 132 .
| | EE
7 7
@ 3 @A) ¢ W]z
11 11
B) 7 (B) 0l
15 15
17 17
[=]1R[=]
O Fie

SL.B/23-D-2189976/12
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67. BysellingabicycleforZ2,050,ashopkecper * 67, «oew (R B IRARGET 2,050
gains 25%. If the profit is reduced to 10% then the : om RS 9@ 25% ol @ | T GIW %

selling price will be Haret [ a9 oix Fvea #f{ed W 10%
(A) T 1,600 AR [ElA]
®B) T 1,804 (A) 1,600 G . :
(©) 71,805 B) 1,804 5t (=]
®) ¥ 1,300 (C) 1,805 Gigt

(D) 1,800 51!

68. Whenwasthe Tenancy Actpassedin Bengal? 68. (S AT ATNITG iEA AP 52

{A) 1885 . N

@ 1578 EE piip
(©) 1928 = (© 1928
(D) 1868 (D) 1868

69. Name the Indian athlete (Javelin thrower)
who has won the gold medal in Paavo Nurmi

69. (I eI I (el Resded
FeifEn) 2024 AEE SATst 1 GNET GG S

e s Bkt |
- av bin M
(B) P.V. Sindhu (&) S e L0
(C) Neeraj Chopra ®) B.7.FR [=135
(D) Tajinder Pal Singh Toor (C) T=e it
(D) i A Br A

70. G YT 60% S G TR %

70. 60% of a number is equal to the %th of the
SETAE Y T | AL 8 O YT SAS Fo 8

other number. What is the ratio between the first

KERSGETRKSOEREGD KOSV FEDEZRATVBRODDORVURR RO ERADTERETE D

number and the second number? s A) 1:1
(A 1:1 E E ®) 2:3
B) 2:3 [w] 3% (C) 3:5
(C) 3:5 D) 2:5
D 2:5

Please Turn Over

%%
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71, Which day is celebrated as a “World Blood
Donor Day’ every year?

(A) 5thJune
(B) 14th June
(C) 14th July
(D) 10th September

72. Which of the following is the first beach in
Asia to get Blue-Flag Certification?

(A) Arambol Beach, Goa

(B) Chandrabhaga Beach, Odisha
(C) Marina Beach, Tamil Nadu
(D) None of the above

73. Which number gives the same result when

added to 1% and when multiplied by 1% ?

a1
®) 3
©) 5
@™ 7

74. The speed of a train is 80 km/hr. If it takes
4-5 seconds to cross a tree, how much timne it takes
to cross a 200 meter length station? {2

(A) 13-5 sec. .
(B) 13 sec. OR
(C) 12 sec.

(D) 12-5 sec.

SLB/23-D-2189976/14

D-14

71. 2T @R ke R TemmeRl Wt
RETR et (Svaied) ot =W
(A) XA
(B) 1429
(©) 148
(D) 10% GTT%d

72. R5A (R TEETOD GHER e g3/’
Rt e

(A) SRR i, (A
(B) vEreish s, efemit
(C) (R s, eIy
D) Toitza e

73. NI @ FLAE %ﬁmmwma

SRAGIBE 1% I T R TR ST A ?

(A) 1
@) 3
©) 5
(D) 7

E_

74. <= GEF «foR4t 80 FR/T6 IR o
NTT HroFH FACO 4-5 CIEES TN As oA
G5 200 0K 5731 o= SiewTw F90e G T
SR SHSITT ?

(A) 13-5 T
B) 13 CTFS
(©) 12 GRS
D) 12-5 TS




p1s EEE o

75. The average of the largest and the smallest * 75, 0, 2 ¥t 4 T ot 3 o=RRE 92 @

3 digit number formed by 0, 2 and 4 would be THO A 5% 2 A&
(A) 213 [w] 4] (A) 213 o
(B) 303 A, (B) 303 ]
(©) 312 [=] (©) 312 .
(D) 222 D) 222

76. ‘Batukamma’ is the State festival of which 76. IZITA’ @ AET G THR?

state? (A) SfERG
(A) Tamil Nadu *
(B) Telangana (B_)
(C) Assam ©) B
(D) Gujarat (D) el

77. In which year the newspaper ‘Times of
India’ was first published?

77. @i AE “Times of India’ 2195 #H*e 29 ?

A 1875 (A) 1875 G &
©) 1858 (B) 1858 7icet i
©) 1867 (C) 1867 et

(D) 1862 (D) 1862 At

78, Which of the following waves has the 78. 53 (P ST TIT FROBE @2

XN XS THRARDO XD R XDV LDVSQOVLDEDVVGTHALDDDDR A RS ERRDT T RR

highest frequency?
& (A)qgad;; E‘ (A) e
(B) Infrared o (B) TIES
(C) Microwaves (C) WiEGrers
(D) Gamma-rays D) st

[=]
=]

Please Turn Over
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79. Ruma reads at an average rate of 30 pages
per hour while Neerareads at an average rate of 40
pages per hour. If Ruma starts reading a novel at
2:30and Neera begins reading an identical copy of
the same book at 3:20, at what time will they be
reading the same page? .

(A) 5:00 [=] ]
B) 5:50 5
(© 6:40 [=]

D) 7:.00

80. The HCF of two numbers is 13. If they are
in the ratio of 5 : 7, then find the numbers.

(A) 65,91
(B) 25,35
(©) 35,49
D) 15,21

81. A batsman makes a score of 84 runs in the
21st innings and thus increases his average by
2 runs. His average runs after 21st innings is

(A) 24
(B) 34
(C) 44
(D) 54

82, The Hindon River is a tributary of which
river?
(A) Ganges
(B) Yamuna
(C) Narmada
(D) Tapti

83. What is the proposed new name for the
legal code for India, replacing the Indian Penal
Code (IPC)?

(A) Bharatiya Nyaya Sanhita
(B) Indian Nyaya Sanhita
(C) Nava Bharat Sanhita

(D) Bharat Penal Code

SLB/23-D-2189976/16

*

*
*
&
33
3
»*
&
&
»*
*
&
&
*
*
&
o
i
o
3
o
&
%
i
]
o
B
&
i
i
2
i
o
B
=}
i
&
&
&
B
o
B
!3
»*
»*
i
&
»*
*
]
]
#»*
*
B
C
*
*
*
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79. ¥4t 1 %6 30 B oot @3z T 1 760w
40 T8 7(91 I%TS =M | ft 31 2:30-q @B Boiegrer
0! WP T GR A1 €2 G TATH 3:20-09 “wt
T FCH OCF IIF TN SIF! G G2 S A ?

(A) 5:00
(B) 5:50
(©) 6:40
(D) 7:00

80. F{FRYE A3, 13 TR SR SAG5: 7|
RAMG T S|
(A) 65,91
@) 25,35
(©) 35,49
D) 15,21

81. GG oY 21 O IR 84 T TN
W OIF 91T T 2 T O 21 O W St O
oG A TH

(A) 24 Er E!
B) 34 z »
(©) 44 CIkE
(D) 54

82. o5t 70 P ARIF ST 2
(A) st
B) T
(C) =it
(D) =i

83, 2fSTH (71 Gl (IPC)-93 AARRTS St
iz @Ioed 2R Ty A e

(A) ST T el
B) e i Kot
(C) w7eFe et
(D) ©IFS (I FIG
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84. What is the capital of the United States? 84. W THAWET AT e

(A) New York ol (A) FoTE
®) Boston Bl ®
(C) London E]-:
_ L (C) =T
(D) Washington, D.C. (D) easa, B

85, A boy’s height is 133 cm at the end of a
year. His height increased by 6-4% during the

85, AT (I G0 IR Tt 133 GiRI = |
Tft 9=rd O Tl 6-4% F0a I #1F O _EA

year. Find his height at the beginning of the year. GO O Twol T BF e

(A) 125 cm (A) 125 &l
(B) 120 cm (B) 120 TRt
(©) 110cm (C) 110
@) 118 cm (D) 118 Gif¥

86. Who is the founder of Facebook? 86, A AfvIe T [w)E]
(A) Steve Jobs (A) Frew ; .
(B) Mark Zuckerberg B) W At =55
(C) Larry Page
(D) Bill Gates (©) R e

(D) &=t colow

87. Vasco Da Gama found out 2 new route to

87. ©ITH Wl AW SHTe Yo TeA oY {0 @F

India and in 1498 reached R 9% 1498 AET iafEm-—
(A) Pulicat \ (A) glﬁﬁsfﬁ
out ERE om
0a =i~ (C) csimt
(D) Calicut [z D) 7S

88. ‘Omithology’ is the study of 88, IO WGICT ‘Omithology’ I =7 ?

AENDOSHAFDEARKPERXLDJILLOV/ETILBDLLDBIHORLBDOLLDOREETD R ED D N DD R

(A) Eish (A) g ElEE
(B) Birds B) AR 5
(C) Coins © = =
(D) Ocean D) =99

E"’QEI Please Turn Over
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89, In a class of 40 students, %

number of students like to eat rice only, % of the

total number of students like to eat chapatti only
and remaining students like to eat both, What
fraction of total students like to eat both?

of the total

® 3 EIE
3 =
® 3 =]
2
© 3

(D) None of the above

90. A person has to cover a distance of 6 km in
45 minutes. If he covers one-half of the distance in
two-thirds of the total time; to cover the remaining
distance in the remaining time, his speed must be

(A) 6 km/hr
(B) 8 kan/hr
(©) 12 km/hr
(D) 15 km/hr

91. Whenisthe National Sports Day celebrated

in India? E]%EI
(A) August21 o .
(B) Angust?23 [=]:
{C) August 25
(D} August29

92. Which one of the following is the currency
of Bulgaria?
(A) Len
(B) Ruble
(C) Leva
(D) Dollar

RERDORRODEXDIO R DDIDOJEBHUDLIVT/TLVOTVSVODDOSREDTD XS RN D H NN

v
[ury
oo

89, G FIET 40 & RJERIE! HITR | (NG RIREIT

OIS @ o T3 (4TS %W FF | (T DaRaT FO

e O @ b U5 (IS oA PR
@) < EE
3 b
® % =]
© %
(D) ©oitzg B3

90. ¢3 & 45 TG 6 Rerfivs /=y wfeas
F0S A | AW OF N6 I [R-PONKEE T
S YA SIS FACS ©fFF ST TS A

(A) 6B/ w6t
(B) 8 ¥/ <%
(C) 12REY =%t
D) 15 Ry w01

91, SIS TeT vl 9 FT e = e
(A) 210 =156
(B) 23¢<1 S5
(©) 2501 Sk%
(D) 2904 =151

92, TRRS el e @it e m

A) =% .

®) ClfE:AC]
©) @© [=]3

D) A=

IE.EEI
=
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93. Two pipes can fill a tank in 20 and 24 * 93, ¥} AR AT 9T iiE ITFw@ 20 ™FG
minutes rcspcct'ively and a waste pil?e can empty : @ 24 R of a1 77 92 NemE AR TEe
3 gallons per minute. All the three pipes working 4 1 TRfIE 3 9irtei St QifeT o1 3 | 3oTiee T fonfe
togethercan fill the tank in 15 minutes. The capacity @ )
of the tank is x T T R o tele ofS wwe 15 R wm

(A) 60 gallons EI o ; =tst | Sors <o shfew o=t 4 e
(B) 100 gallons % . (A) 60 B

(C) 120 gallons [=] (B) 100 sbiei=

(D) 180 gallons (C) 120 sl

(D) 180 siiew

94, The profit earned after selling an article for
¥ 1,864 is the same as loss incurred after selling the
article for ¥ 1,490. What is the cost price of the
article?

A) T1,677
(B) ¥ 1,667
(C) T1,623
(D) ¥ 1,689

94, <= a< 1864 b R 9 @ et ots
T ER I SR Gz T E s 1,490 B
i 0 | g glod Fges T ¢

(A) 1,677 5wt
@) 1,667 5t
(©) 1,623 %
(D) 1,689 i

95. In which year India’s former President
Pranab Mukherjee received ‘Bharat Ratna’?

(A) 2018 ERE
(B) 2019 . .
(©) 2021 [l 3
D) 2023

95, SRS died G 2T IS ‘TFery
SR TS TR T A=
(A) 2018 AT
(B) 20193
(©) 2021 =
(D) 2023 I

96. Write the missing number:
4,9,17,35, 7,139
(A) 63
(B) 65
(C) 67
D) 69

96. wepelfrs Wil @ e -
4,9,17,35,7,139 .E =]

(A) 63 ]
(B) 65
(©) 67
(D) 69

97, In which year was the Olympic Symbol
designed?
(A) 1915
®B) 1913
(©) 1920
(D) 1924

97. @FRAEHA>Ie e wiRnsazas e
(A) 1915
@B) 1913
(©) 1920
(D) 1924
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98. AisthriceasgoodasB andthereforeisable
to finish a work in 80 days less then B. Find the
number of days required to complete the work if
they are working together. '

(A) 20 days m El
B) 32 days [w13

(C) 30 days

(D) 40 days

98, A, B-47 3 4 FF 933 CRI[E A, B~9F
(AT 80 T WSt =t S O 3 | O @R
i’ FomME o F9< o Refy et |

(A) 20 = Ef!é‘%
B8) 32 Ok
© 30

(D) 407

99, Bar is a unit of
{A) Force
(B) Power
(C) Work
(D) Pressure

100, A sum of money is divided among 160
males and some females in the ratio 16 : 21.
Individually each male gets ¥ 4 and a female T 3.
The number of females is

(A) 198 [ ]
®) 270 E
(©) 280 =

®) 284

100. g #/faat BRAl 160 T F @ FEFEH
TR WG 16 : 21 ST Sisi T3 T | 9F FE
afel 7F7 4 i o0 9 Al wfzen 3 Bt e
{1 | X2ET FLY! TS AT

(A) 198
(B) 270
(C) 280
D) 284
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